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Explanation of certain Grammatical Terms & Symbols

4
1. Fathah is the vowel sigh (=== ) denoting “a”.

[13%4)
1.

2. Kasrah is the vowel sign (7) denoting

2
3. Dammabh is the vowel sign (=) denoting “u”.

°
4. Sukiin is the sign (=== ) denoting absence of a vowel.

w
5. Shaddah is the sign (== ) denoting doubling of the letter.

“a” 1s long “a” as in father.

ce=o 3T
1 1

is long “1” as in machine.

“6i” is long “u” as in rule.



LESSON 1

LESSON 1

In this lesson we learn the following:

-

[
1) Ql: In Arabic there are two types of sentences:
4% 'i/ o . .

a) the nominal sentence 4ot Y| {52 wherein the first word is a noun, e.g.:

. 3.:@’,& LSl “The book s easy.”

2
The noun which commences the nominal sentence is called the mubtada’ \.J.:;?ij\ while the second
part is called the khabar '7=<)1.
Lape Ly A1 s . .
b) the verbal sentence 4 l=4)| dls>) wherein the first word is a verb, e.g.:
By .
J’)/\./: oo ‘Bilal went out.’
]
The particle Q)i is used at the beginning of a nominal sentence, e.g.:

Jio 2l 5 Y oY

£

@
Note that the noun after Ol is mansiib.

z

-

After the introduction of :)i, the mubtada’ is no longer called mubtada’, but is instead called
ismu inna and the khabar is called khabaru inna.

i)l signifies emphasis. It can be translated as ‘indeed’, ‘surely’, ‘no doubt’ and “verily’.

Note the following:

-

w
If the mubtada’ has one dammah, it changes to one fathah after ()l e.g.
2 < 4 2 v @
Ll Sl = e ad Y
ks T £ T @ /
L3 Ll — G Lal O
If the mubtada’ has two dammahs, they change to two fathahs e.g.:
a8 z @
as L e el O
If the mubtada’ is a pronoun, it changes to its corresponding mansiib form, e.g.:
PR - . @

For the mansiib forms of all the pronouns, see Exercise 3 in the main book.
Note that the pronouns of the first person singular and plural have two forms each:

Al 81
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2) |=): This is also a particle like Ol. It is called one of the ‘sisters of .
g
Grammatically, it acts like 02. It signifies hope or fear, e.g.:
2R - 6“‘ - - ’
. Jﬁ'?"' j’.‘-}‘ “The weather is fine.
— 3.,3.;- QSJ\ 3.2) ‘I hope the weather is fine.’
¢ .
oy e &»).LU\ ‘The teacher is sick.’
‘ﬁ/ @ // . .
—r , zﬁ-j//‘ : ,r")u\f;)\ :};J ‘I'm alraid the teacher is sick.’

In this lesson, we have examples of ‘I hope” only.

3) 92>: This word means ‘having’ or ‘possessing’, e.g.:

2
J\.A 9> ‘possessing wealth’ i.e. wealthy.
2 g 2
‘5.\:'- 9> ‘possessing manners’ i.e. well-mannered.
o ¢

& 4> ‘possessing knowledge’ i.e. learned.

z

It is always muddf, and the following word is muddf ilavhi, and therefore it is majriir.
2 ]
The feminine of ¢3 is .13, e.g:

A 9 2

£ 7 sa0 ] TV . . .
J’L" AR 4:;-\) ‘V'Le 93 J“}M ‘Bilal is learned and his sister is well-mannered.’

z

" 2, YO
The plural of 43 is 445 and of Sldis oled, g

24 2 w . 2 9 . P wd Ta.
L g S Ve LS 90 OOl (N5

RPYESNCHE [V S PN AN PR R VA ]

z z

4) »1: Tt means ‘or’, but only in an interrogative sentence, e.g :
¢ w550 \ - °.T s 11
Ve ol S Cobo)

-

‘Are you a doctor o1 an engineer?’
£

‘Is he from France or Germany?’

¢ G e ol 5 i L

¢ s Al Euly YL “Did you see Bilal or Hamid?’

Note that the particle \ precedes one of the two things about which the question is asked while \s‘

precedes the other. So it is wrong to say:



LESSON 1
:5,} if.w/ _ //'i . £ wo g /.9;
¢ s0> (\&Jl WY ?;,QUa (1\ &)Jw el
The correct construction is:
€505 Jol GBI JI e b Bl Gl 2

. . o .
In a non-interrogative sentence, j\ is used for ‘or’, e.g.:

P
13 o) lda ds ‘Take this or that.’
J
gy }\ 3 :;.35 ‘I saw three or four.’
B Qz LTt - i N s
EVIE) I C;;— ‘Bilal or Hamid went out.’

.
oz

R _
5) 45\.4 ‘hundred’, f,é.j\ ‘thousand’:
R o
Note that in 4 \./3 the alif is not pronounced. It is pronounced 4%s. In Syria it is also written like this

without the al/if.
After these two numbers the ma ‘diid is singular and majriir, e.g.:

}/
.olS” &L “one hundred books.’
. J\g 3 Call ‘one thousand riyals.’
. oF 2 /.Og ‘.
Here _aJl is majriir because of the preposition .

iy °g
a \./3 and C_aJ! have the same form with the feminine ma ‘diid also, e. g.:

§ " Ge
b By e G

6) J\.;« ‘expensive’ s
. JLC« &L/gﬂ |da  “This book is expensive.’

Here J\.é« is not majrir. It is marfii ‘. Its actual form is Z;Lé«. The letter ya ', along with its dammah,

has been omitted and the niin of ranwin has been transformed to the preceding letter (ghali-yu-n —
ghali-n). Here are some more words of this type:

»\

C\.;u/: ‘a lawyer’ for 253\';‘;’ e.g.: f\;tj" L) “Tam alawyer.’

z

A\Y

u,a\./i ‘ajudge’ for ’.» L/E, €.g.: up\-g u-.’\ ‘My father is a judge.’

sly ‘avalley’ for 259\5, e.g.: 2l |da  “Thisis a valley.’

N\

5



You will later learn more about this class of nouns ‘_;\.;S alala Z)i

3 - . _
(é\;s.}\ C) é_/{; intelligent ,jyjb dollar

°o % ~ &,
(5,\_:,,9\ C) Z}:—é’ stupid & Lf hundred
P . oz

.2 2
(&'}&?—\ C) B_Li- manners &_S\ thousand

& By , 5 s

C ) }M married 4 9) rupee
a5 a8 ~ °o

- unmarried d>= Q. page

2 * - one who has passed

R
w
L”S 254 2 few C": U the examination

R , -
b j'é'?/. Jews J ¥ expensive

V.?uu dictionary 34,‘_9/-; cheap
(f\.«f\ C) ;.5 sleeve



LESSON 2

In this lesson we learn the following:

1) L’JM,U It means ‘is not’. It is used in a nominal sentence, e.g.:
LR S - s (A . R
cAgde- c,.xj\ —> L hdow c,-,,j\ ;,WNJ The house is not new.
Note that ; is added to the k/abar, and it is therefore majrir.D

After the introduction of &...jﬁ, the mubtada’ is called ismu laysa, and the khabar is called khabaru

laysa.

The feminine of;,.;] is éﬁ&:j, e.g.
Ay oy — . 5\.2.43]1./: C :,.C-«j ‘Zainab is not sick.’
G SR o ius 5L WJ “The car is not old.’
Note that in the second example the sukiin of w has changed to kasrah because of the following
«J\» (laysat I-bintu — laysat-i-I-bintu). See Key to Book 1, Lesson 12.
The forms of &.,.fj with other pronouns are mentioned in Exercise 3 in the main book.

Py £ 57 Ao, . -8,
In ; WJ the pronoun < is the ismu lavsa and ; is the khabaru lavsa.
gc - b # gd - 4 £

We can also say

) X o ot
. J:«L‘.@.i.: Ctd
' . 5 7.
Here Ul is mubtada’ and the sentence u,».:\.;@_ig o is the khabar.

This sentence is made up of ismu laysa and khabaru laysa as we have seen earlier.
Note the following:

.Z’Jﬂj:\ji \.:‘ — uﬂj:l.i.’ ;,.«»H :
gl e Ul G e

If the khabaru lavsa is a prepositional clause like .:L;.@JS &,g, it does not take 5. So one does not

say:

' We can also say \.\J.b- Eo JJJ . Here the k/habar has no —, and it is mansiib. You will learn this later alJ} ¢L& dl.

7
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LESSON 2

We have seen in Book 1 that if the mubtada’ is indefinite and the k/iabar is a prepositional clause, the
mubtada’ comes after the khabar, e.g.:

2) If 1s added to a sentence like & j_>-\ sz it becomes:
ow-\ uij O\. Here ; 5;5~»‘§ is mansiib because it is ismu inna, and )
3) . el U" ,;J'}’\;- ‘Bilal son of Hamid’,

1“ o

22

o ‘, . o
rycui Lj WWS ‘I have no brothers’,
J s O U

2R

Here 6 o> is ismu lavsa and ) is khabaru laysa.
9> s .

) ab-\ Q,J ‘I have some brothers’.  With ;-,WLJ this sentence becomes:

is khabaru inna.

In a construction like this, the «/if of :Jj | is omitted in writing, and the preceding word loses its

fanwin.

2\_@5 meeting (j\,é_;\ C) i_%_;

® g0 - .E ‘I am happy to
"’bw ))J'W’A Ul meet you.’

-
*

Ly
a8

%

7
2, P B, o
J‘;? good (J)L,a.ﬂ C) JJ»A.G

4)¢ {-; M _ye literally means ‘Who is the brother?”. Tt is a polite way of asking a stranger who he is.

river

telegram

bank

[}
(:” )i;' C ) Li«-i-‘;- pocket .}:g j:.s\ C,v& post office



LESSON 3

LESSON 3

In this lesson we learn the following :

1) Comparative and superlative degrees of the adjective:

Adjectives in the comparative degree are on the pattern of 33.%\ like:

o i o z
:/L;.q-\ ‘more beautiful’, &.C.o—\ ‘better’,
a7 © £ 8- iz
J;z..,p\ ‘smaller’, (.Le\ ‘older’.

o W . R 20 )
As we have already learnt, words on this pattern are _° J:a.f\ o & _gas (diptotes) and so have no
tanwin.

:};é\ is followed by :fg ‘than’, e.g.:
1 ° i E 1& . . .
. J))\.’ o 3).14'\ Jel> ‘Hamid is taller than Bilal’.

3,.%% . . L
J.«a‘ is the same for masculine, feminine, singular and plural, e.g.:

Ll 2 Dbl 5 “Bilal is taller than Aminah’.
1 © /o & -~ . : .
J}M o ij.b\ 4:@\ ‘Aminah is taller than Bilal’.

Lol o 3}& A “The sons are taller than the daughters’.

b

4 -
uu\ ‘The daughters are taller than the sons’.

'}l ° 3 P 3
s :J.Lo-\ sl “You are better than I’
AVRERS a1 ~£ ¢ B
‘_J..,g J_,a_e\ 5] I am shorter than you’.

Lo s j;f‘ ("i ‘They are older than we’ )%

‘o

J}é\ is also used for the superlative degree. In this case, it is followed by a majriir noun.

' Note that in s the niin has shaddah. There is no shaddah with other pronouns: s <2l c\g e
but s has shaddah because it is made up of yeand b .

3 Tw £ . . "
: :f.j means ‘age’. L }:f | literally means ‘bigger in age’.



LAl & b 2)":“;\ ;'.3}5\}1 ‘Ibrahim is the best student in the school.”

1 - o e * ?-E - og . . . .
a v}w\ < ga,gb- f*)"\ j.hjw ‘Al-Azhar is the oldest university in the world.’
° T .. 25 I .
. M < f\.éUa }f\ Mj/a\.e ‘Fatimabh is the eldest student in our class.’

The Arabic name for both the comparative and superlative degrees is JMQ.M“ kL«,@‘ .

w

2) :,Y‘I:“\"S}: ‘but’ is one of the sisters ol ), and so acts like dl, e.g.:

2~ - & P -
L OS> Jij) ..L@..o;i J)’b ‘Bilal is hardworking, but Hamid is lazy.’

JTQ 9 &;;i L>.>-\ ‘My brother is married but | am a bachelor.’
”‘a 2 > e . .
a L,gﬁ .U Ls:)\.mu ‘My car is old, but it is strong.’

w = >

3) OIS is one of the sisters of .;\\_, and so the noun following it is mansiib. It means ‘it looks as 117, e.g.:
2R - - N I: 6‘. g . .
- RSP NAIEEILY ‘It looks as if the imam is sick.’

“4° { 4 r s - - . . . e . "
LAk \.ﬁ.;\f ¢ sl odn :),a ‘Who is this girl? It looks as if she is your sister.”

27 MW 7 &. . . .
a8 L) sl ol ‘It looks as if this car belongs to him.’
5 _ . G
. .A.:.@.S‘ o Shls “You seem to be from India.’

-

4) The numbers from || to 20 with a masculine ma ‘diid.
These numbers are compound: they consist of two parts. The m« ‘diid is singular, mansiib, e.g.:

.o _ s s £
LIS Tae I ‘eleven stars’
=
\ Y Yoo € . )
qb,,» s A nineteen hooks

We will deal with these numbers under four headings:

a) Numbers 11 and 12:
Here both parts agree with the ma 'diid, e.g.:

U\L s - ‘cleven male students’
Z.JUQ 07«“&« s ‘cleven female students’
15\14 s \ | ‘twelve male students’
EQUa 5 ch \.x;;i“‘ ‘twelve female students’

10



LESSON 3

b) Numbers from 13 to 19:
Here the second part agrees with the ma ‘diid and the first part does not, e.g.:

i < - i 2 2.8 - AT
LU :7& Fopy b sae O
masculine feminine feminine masculine

As you can see, in L.JUa }:“.3 & the ma diid, \.,5\.54» is masculine, so the second part of the
number}i:c is masculine while the first part &\ is feminine as indicated by the 8 ending.
In Z\.JUa ) J,&./c oS the ma ‘diid J.JU»: is feminine, so the second part of the number & J,:.‘.; is

also feminine while the first part G2 is masculine as indicated by the absence of 3.

In this lesson we learn these numbers only with the masculine ma ‘diid. We will learn them again
with the feminine ma ‘diid in Lesson 6.

¢) These numbers are mabni (indeclinable)(. In other words, they do not change to indicate their
function in the sentence.
This will become clear by comparing the numbers from 3 to 10 with these numbers:

- Ao .
. C)Y\U LW s ‘I have three riyals.’
RN R
. Q‘y\.g.) W ) ‘I want three riyals.’
. CJY‘:{) B ) 1 “This pen costs three riyals.’
. Y\:’J She B Sl ‘T have thirteen riyals.’

N, Lae S A ‘I want thirteen riyals.’
“2 J«M;' J ) y
. Y\U }J.@ GMey &)l \da  “This pen costs thirteen riyals.’
Note that U] and U3\ commence with /imzar al-was/ and it is omitted in pronunciation when

preceded by a word.

* The words ] and L::J/\ in}:i..a L5l and 3 J.:.&« U351 are mu ‘rab (declinable). When majriir and mansiib, they become 15“’/‘

and CS‘:’\’ e.g.:

\1\.3) ;..:*..:c« \.:ST LS:G-? ‘I have twelve riyals.’
z . oo 3 2

Yb) s &-’5‘ SV ‘T want twelve riyals.’

S, }:“«.3 J/‘JL oUSII Jda  “This book costs twelve riyals.”
11



LESSON 3
(d) The number 20 is O fmsx . It has the same form for both the masculine and feminine ma ‘diid.

The ma ‘diid is singular, mansiib e.g.:
L,J\.b Z) jj.&.g« c@\b :) jj,&.g—
We will learn the numbers from 30 to 90 in Lesson 23 Al ;Lﬁb C)i.

We will learn there the other cases of these numbers as well.
5) The ordinal numbers:

The word for “lirst” is \ \ Ordinal numbers from 2 to 10 are formed on the pattern Ls
EJBhird, Al fourth,  Aesls Cfifth,  fesli sixih

‘Second’ is L‘L, which is originally &3\3 like Q\.é in Lesson 1. With !, itis L.
6) ¢ JJU;L‘}’ MW'J(‘ “sn’t it s0?’.

If a student is asked ¢ :,Q,\./{ &.«;ﬁ c@\b C.:j the answer is LS/JJ

We’ll learn more about u.lf in Lesson 4.
7) \&.;,?‘1 ‘which of the two?’ e.g.:

¢ 340G (L e U el s
‘There are two students from France in the c/lass. Wh}ch of them is your brother?’

2 g ] A . }.. //' //.
8) The two broken plural forms |<ls and |.&las like (35U and &3—\.‘3 are called:

’;’,Q
|

LA

Vocabulary
(=l ) pgs osel (LSTS ) 23 star
(;Lg;; z) fy} team (;\.w\ z) Us.a full brother
bl 8 G (sl 7)) 5L window
Gd o) b 5 O ”‘“?7) “ month
(0 }i:f}/ C) &9’}] player  (masc. QM) ‘_;Li.f lazy
By e Segs T (OL 7) Gyl price

12



LESSON 4

LESSON 4

In this lesson we learn the following:

1) The verb in the mdadr (past tense), e.g.:
g;.:bﬁ ‘he went’, /c;-i ‘he returned’.

Most Arabic verbs have only three letters which are called the radicals.
The basic form of the verb in Arabic is the middi.

As we have seen in Book 1, ‘.;,.x/h.': means ‘he went’. But if it is followed by a subject, the pronoun
‘he’ is to be omitted, e.g.:

T x . .
. J}’b <> means ‘Bilal went.” and not ‘Bilal he went.’.

-

© <. . . o«
In the same way, <..»> means ‘she went’, but if a subject follows, the pronoun ‘she” is dropped,
eg.:
’1/ -~ o° -7 -
. 4.;,3\ coad ‘Aminah went.’.
_ - " ° _~ i " “ . - . = EE "
In Ca> ‘he went” and . a3 ‘she went’, the subject is said to be damir mustatir jM.fM }M

(hidden pronoun).
To this basic form of the mdadi suffixes are added to indicate the other pronouns.

A Q . .
This process is called isnad (J\.;M}M). In this lesson we learn the isndd of the verb in the mdadi to the

following pronouns:

.23 ‘he went’: the subject is damir mustatir.
°o 7 . 5 . . - .
o ‘she went’: the subject is damir mustatir.

Note that the t (<) is the sign of its being feminine. It is not a pronoun.

\ jj}bi ‘they went’: the subject is the waw.
The alif after the waw is not pronounced (dhahab-ii)

:;JA.; ‘they (fem.) went’: the subject is the niin (dhahab-na).
C_,fa/h.; ‘you (masc. sing.) went’:  the subject is the 7« (dhahab-ta).

:,i;b; ‘I (masc. & fem.) went’:  the subject is the 7 (dhahab-tu).

Note the difference between the masculine and feminine forms:

LB 1R - 8 s Tulsy O o

° ke cor A AT
AL R - Ly by T 5
13



2) To render a verb in the mddi necative the particle Ls is used, e.g.:

w 3 2 o
- Q ji'lJ\ LSSL CaBD ‘I went to the market.’
3 3 2 0”7 7 5
— . QJ:J\ (.Ssl cond ‘I did not go to the market.’

. :X.?JM,Z.S\ &,g %Ux}“ /C};- Ls  “The imam did not go out of the mosque.’
1~ { ® // 2o -7~ . 1° &
: &.Ja— L :\:Sjj IS J;'-J ‘Bilal entered but he did not sit.”

3) The difference between {;x» and dﬁb :

The word J‘b is used in response to a negative question.
If a Muslim is asked:
¢ v.}i:; wi ‘Are you not a Muslim?’.
The aiqswer is:

Fa
28 A . - .
(,.L:,,a Gl c‘jlg ‘Yes, I am a Muslim.”.

But if a non-Muslim is asked the same question, he replies:
o & L) 1 ° //,
. M C/..u».s (('.ﬂ.i,

So in response to a negative question \@u means “no’ and kc.l; means “yes’

-

German has a word for LSU . It is ‘doch’.

4) S ‘hecause’, e.g.:
LY \7‘ - Q. % - d A - /. #
‘I did not go out of the house because the weather is cold.’.
5; I’ -
8, PR L .o 2 A P PR
‘Ibrahim went to the hospital because he is sick.’.
@5 @£ @
Note that OY is made up of ) “for’ and Ol which is a sister of Oi. So the noun following it is
mansiib.

]

3 ,,
g s ‘}! May no harm come to you! :g L& tea
&k

*»

14



LESSON 5

LESSON 5

In this lesson we learn the following:

1) The 3.9\..;5\ (the subject of a verbal sentence).

We have already learnt that in Arabic there are two types of sentences: the nominal and the verbal.
The nominal sentence commences with a noun, and the verbal sentence commences with a verb.

The subject of a verbal sentence is called /a i/ (3.5«\.:5.3\), e.g.:
. 3’)7\.’ C,.:b:) ‘Bilal went’.
The fa ‘il is marfii ‘. The fa ‘il can be a pronoun also, e.g.:

| ):;:hi dhahab-ii ‘they went’: the /a ‘il is the waw.
Cond dhahab-ta  “you went’: the /G ‘il is ta.
Usa3 dhahab-na  “we went’: the fa ‘il is na.

2
wd o7 -7 -7
Note that in ]! a3 ‘the students went’, the verb (23 has no waw at the end, because | jias.

A
i

means ‘they went’ and if we say J)M\ \ jf;;h.i it means ‘they the students went’. This is not correct
because there cannot be two /i ‘ils for a verb.
A
=z @ @y -7 ,
But we can say | g3 M), Here, oMl is mubtada” and the sentence | g3 ‘they went” is

the khabar.
The same applies to the third person feminine, e.g.:

3 . . ST I
U @2r 3 “the girls went? Or -y A5 .

Learn this rule:

Nominal sentence: | j&w\ / >;<UAM\

Verbal sentence: <& QUM\ g:,..,A.b
2) The maf"iil bihi (the object of a verbal sentence). The maf il bihi is mansiib, e.g.:
1) i\jy\ /C:; “The boy opened the door.’.
Here QU\ is mafiil bihi and so it is mansiib. Here are some more examples:
Tl :ﬁ,.j; ‘I saw Hamid.’
g_Mg J ) jJ.a.S\ &_,JL«# ‘The headmistress asked Zainab.’

15



PETRE D TR ,
AW J:-;J\ & ‘The man drank water.
3 z

. da) }5\ JL& “The boy asked his mother.’

2
_*
Note that in the last example the mayf“itl bihi is umm (»)), and so it takes the a-ending and the pronoun

hii is not part of it (umm-a-hit). Here are some more examples of this kind:

oo, 8 E P .y .
L Q:a-j‘) ‘I saw your house.” (8 + & bait-a-ka)

. :C\.E/f @\,LS\ /CE; ‘The student opened his book.’ (3 == QGS kitab-a-hu)
The mqf‘ﬁ// bihi can be a pronoun, €.g:
. :\.):15;\.&) /\[’)/’\./s é,j; ‘I saw Bilal and asked him.’
3) The nin of the ramvin is followed by a kasrah if the next word commences with the hamzat al-wasl,
e.g.:
AW Qels- < J.:Z: shariba Hamid-u-n-i-I-ma’a.
Here if the kasrah is not/added, it is difficult to pronounce the letter combination /.
This is called k_',,;/:f”‘x,iij‘, £ 122 ‘combination of two vowel less letters’.

Whenever such a combination occurs, it is removed by inserting a kasral between them. Here are
some more examples:

ST O Ul sa'ala bilal-u-n-i-bna-hu. Bilal asked his son.
. Z)\:SV\ 3.,/4.;; &9.& sami‘a faisal-u-n-i-l-adhan-a.  Faisal heard the adhan.

4) We have learnt earlier that most Arabic verbs have only three letters which are called radicals. The
first letter is called the first radical, the second is called the second radical, and the third is called the
third radical.

-
. . C
&,__.,'wr....»tm.w-i

third radical  second radical  first radical

Note that in the mqdi the first and the third radicals have fathah. The second radical may have
Sfathah, kasrah or dammah, e.g.:

/C;.;- cJ.;-S (LA A3
b his (O
KE R

16



LESSON 5

g:,,,;_% grapes
B o
)' j’° bananas
R
j}.d dawn
ﬂi/ o £ 28 o -
(d_:j;-\ C> u\j;— answer
z ,
(A.L:u\ C) J\}:u question
B
cL::— snake
gy P
J 2y grocer
28R o :
) 40 coffee
By A
j"" bread
o 3
e j"":" writing board
Ay z
\.La— well (asin |

ﬁ/O//'

‘ ~}///
\JO.'. ﬁ/:,/ s k:»
z ° }/0 -
. @ . ~ s &~

10/ 5] o////
-~

5 4 4o

SN

z ~ [«] -~
A [~ ] A [ TR
>w , - -
z o

.‘n» }ﬁi/ /!/:

(Gpab s @1&

17

JS\_{; ) O

\;5 ",MSV/

to hear

to understand

to drink

to memorize

to beat

to enter

to eat

to wash

to kill

stick

shop

to break

v 0¥ Ao 7
J.:g- ‘:j" )J_S\ C""’"@J I have understood the lesson well)



LESSON 6

In this lesson we learn the following:

1) wooab “you went’ (feminine singular) (dhahab-t1).
- . g

2) The numbers |1 to 20 with the feminine ma ‘diid.

We have already learnt these numbers with the masculine m« ‘diid in Lesson 3. Rules pertaining to
these numbers with the feminine m« ‘diid/ have also been mentioned there. To summarize:
a) 11 and 12: both parts of the number agrce with the ma 'diid, e.g.:

z o

Wb 5ee o) Wb Sae 05
b 5ae G Wb a2 G
Note that the letter = has far/iah in }:%.3, and sukiin in 5}5«3«.

b) 13 to 19:

in these numbers the sccond part agrees with the ma ‘diid, and the first part does not,
e.g.:

z - o o 4 R
Wb 5ie &% Wb Sie
Z 2.0 - i 5 TR
b srae ol Ul Jae Gl
2o < <

In S}i& &\.«3 the word :5:\,«3 has sukiin.

3) :;,\ “which?’: We have learnt this word in Book 1. It is always muic/if and the noun following it is
majriir because it is muddf” ilavhi, e.g.:

\ /C},- :.,JU? L"S‘ ‘Which student went out?’
¢ @\;:3 oS :5\ ‘Which book did you read?’

P A ) . . .
¢ g:,m:f (,J.e b ‘Which pen did you write with?’
Note that the word ;:;:,;“. is marfii* in the first sentence because it is mubtada’, and it is mansiib in the
second because it is maf il bihi, and majriir in the third because it is preceded by the preposition - .

2 2z ) 1.\7‘ _ °o . - FE s }.Z ) " z ¥
4) ub\ I think’: &5 dsi CodD \.@.3\ Z,Ja\ ‘I think that she went to Makkah.” .

Mis asister of OV and
so its ism is mansiib and its khabar is marfii ', e.g.:
) - GE 34%
C R >~ o Ob\ ‘I think that Hamid is sick.’

18



B & % 3 2z
Ll (U\J\ O Cj‘b‘ ‘I think that the imam is new.’

‘I think that Fatimah is absent.’
‘I think that you are tired.’
5) J:a.zj\ 69 @Lb ZJ':“';‘ é)ui : J\S ‘He said: "you are the best student in the class."’

-

o s @z
Note that after ()\8 the particle C)i is used, and not Ol.

6) (/,_5 ‘why?’: If it stands alone, a «&» is added to it: 5\.;./3 This is called c;,.g.fd\ A
7) We have learnt in Book 1 some examples of adjectives ending in “-arn’, e.g.:
2 ° 20 - ’q, - 0 -
Olze colakes (O 4>
The feminine of such adjectives is on the pattern of 61;';’ and the plural of both the masculine and

the feminine, is on the pattern 3\.2.9, e.g.:
8 Syoow Ao By A
P dn bk O
¢ - 0. LT
Fledldl L g5 L
L - - - A
Note that the plural of OMLS and ‘jl.if is JL«-«S as in the following ayah:
- g _ 0 - ) - -]
- Sy . Sy S N
‘When they stand up to perform saldh, they do so lazily.’
8) o “give!’, “bring!’: Note its isndd to the other pronouns of the second person:
., A . & _ £
AHB O L ol sty
g FVCH VR (P S Y

e

5 A cf
9) J= ‘take!’: You will learn the amr (}‘}[\) form of the verb in Lesson 14.

10) | f.:_.( :‘f;v\.d\ < /C J_:z; ‘So the teacher was greatly pleased with me.’ Here -6 means ‘so’ and e

means ‘with me’.
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Note:
. é).s - - ‘I'was pleased with you.’
o j-; J; “They were pleased with us.’

£
5|

¢ 4 E> 3| ‘Were you pleased with him?’

11) Note that .25 can be read in four ways with four meanings:
(a) g:,{jb.s ‘she went’ (dhahab-at)
(b) Eoa3 “vou (masc.sing.) went’ (dhahab-ta)

(c) g:,.:.ibi ‘you (fem. sing.) went” (dhahab-ti)

(d) é,:;b.; ‘I went’ (dhahab-tu)
AE °o
4\_1_>=,4 magazine JQ_S_Q only
28 Z ° .
3 les  building LS &« j& (S5S toiron
Yeos Tow. 880 7 ,
0 ) g sirah \..Lo— dlogd I have understood it well
E N z o ’?ﬂ APTPERY| .
ooy, \ l s . ay Allah increase your
flat g Ul "5'3‘) knowledge
R AR I
f ’ tooth, age \’ 9\.> ?:;Y;lr:) (both male and
1i P ~ ,Q')‘ ,; . . ¢ — . I
l{ word A.U‘ ng e literally, “What Allah wills’:

2 an expression of surprise

- passenger in a bus, train,

~ - . , L
;5_.; b O my little son! J\) plane, efc

R
leased, happy P ’ - to be pleased
Jj et P » RS ’
\i:>=,o/ é@;} é\;/- to come



LESSON 7

LESSON 7

In this lesson we learn the following:

P ffgf; dhahab-tum ‘You (masc. pl.) went.”:

£ F
.

. ;,.Jf\ ‘You ate.’.

o 8k

2 ° £ .
¢ O\}}l\g S 136 “What did you eat, brothers?”.

2) f;i}b; dhahab-tunna ‘You (fem. pl.) went.”:

3) \:i/h./: dhahab-na ‘We went.’:

. Cmato ‘We heard.’.

-

‘You read.’.

‘Did you read this magazine, sisters?’.

. :)‘3\!\ \.:;e.:..:u 5 “We did not hear the adhdan.’.

ﬂez/ .
4) g}i;g\) “You saw him’.
28 % : .
. 4;3‘) ra’aitu-hii ‘I saw him.’.

~
3
Lo

.4auly ra’aita-hi “You saw him.”.

(<]

P

£
. 4.:.,\) ra’aiti-ht ‘“You (fem. sing.) saw him.’.

Note that in the last example, the pronoun 5 (hii) (D has changed to e (hi). This change is for vocalic

harmony. The combination ‘ti-hi’ sounds better than ‘ti-hii’. Here are some more examples of this

kind of change:

'“0/ . o~ . o, . — . . -
iu; baitu-hii, but 4o & baiti-hi (for T bait-i-hi)

" The dammah of s is long if it is preceded by a short vowel, e.g. 4 la-hii, i)“:; \; ra’aitu-hii. And it is short when it is preceded

by a consonant or a long vowel, e.g. :\:g min-hu, s }f_;./{ katabti-hu. This rule applies also to 4 hi, e.g. 4; bi-hi, but 4,2 fi-hi.
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4o min-hu,

but 4.2 for fi-hi

LESSON 7

Here is an example of vocalic harmony in English. We pronounce woman as wuman, but women as
wimin, i.e., we change o to / because of the / in the second syllable.

As you have seen in these examples, the r7asb pronoun is directly added to the verb. But in the case of

a verb with the pronoun of the second person masculine plural like \@«J , a waw has to be added

between the verb and the pronoun, e.g.:

2 %of

$ O - . . _ 5 & a
.8s0)y “You saw him.” (ra’aitum-ii-hu). P PO |

2 saxl’y “You saw her.’

Here are some more examples:

—

) A 2 287
oo+ alle - skl
2 Sz ERY A
}A-I-un"": ——»{’..Awu“
0% 0%
A s a2

.M\gf}i&g

. },,é_a.s/\ u.s 35&; N1y

S B eyl

G @ Sl o

.uL.Q\ 2 25 A1E
ubgﬂ RSBV

C,M\@Jj

C’M I L59 C esls

q.°
/‘)

‘«J‘Qq.\.x-"s

‘You washed it’

‘You killed them’

‘You asked her’

‘he was’: It is used in a nominal sentence, e.g.:

‘Bilal i« in the class.’
‘Bilal was in the class.’

“The teacher is in the library.’

“The teacher was in the library.’

“The pen is under the book’
“The pen was under the book.’

‘Zainab is in the kitchen’

‘Zainab was in the kitchen.’.

v “You saw them.’.

‘You saw them.’.

You will notice here that the A/iabar in each of these examples is a clause:

No change takes place in a clause after :)L/f

But if the k/izbar is a noun it is rendered mansiib after the introduction of OIS~ e.g.:
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LESSON 7
D2 o 3}7\; — Lz s 337\; O\S” Bilal was sick’

We will learn this in Lesson 25 Afm é\.:i: :)1
6) Note the following:
5.3;55 )3 :};j ‘a bearded man’
f\;;jjﬁ )3 :};—j}\ ‘the bearded man’
In the first example jg qualifies an indefinite noun, and in the second example a definite noun :}.;-f,)\ .
We know that the adjective of a definite noun should also be definite. But jg is muddf and cannot
take J\, 2). So this is overcome by making the mudaf ilavhi definite by adding J\ .

4 - w_© ¥ /f A2 @
So in &> 93 :L;- -y the mudaf” ilayhi remains indefinite and in 5\;>=U\ 93 J;j}\ it becomes definite

-
.- -

& W

A
@;;:.U\ }.5) . Here are some more examples:

1. ° . .
« Jz*?-;' g/}"))\.f 92 Cf)\:f S ‘I have a book with a beautiful cover.’
Je J@.;.J\ g/)’)L/J\ 93 C‘Jbﬁ‘ ‘The book with the beautiful cover is expensive.’

4 cen ) ) . .
Lad=lg 8,La 08 Ui LGS° ‘In our village there is a mosque with one minaret.’
g 9 o) 9 ¢ - g q

- - EI )
. ;.3.:\5 §.L>/—\}J\ §J\.&J\ 93 J><%iJ) “The mosque with one minaret is old.’

.o 7 o as o & o s o2t _ . _
7) The letter mim in v.z,b.: c{,..@.:\.f c(,..a: c(._{g\:f cv.:;'\ has sukiin. And this sukiin changes to
dammah when followed by hamzat al-wasl, e.g.:

° o - 2 o . s

rii;g — Jg:b.:.s\ ;ﬁd (bait-u-kum-u-l-jadid-u)
» '“%T/ — ¢ ALY 4 {OT/T (a ra’aitum-u-l-imam-a)
=0 Sl ANV

oS — Audl AglS” (kitab-u-hum-u-lgadim-
B i -2 S (kitab-u-hum-u-lqadim-u)

oﬁoi S0 }oi £
v_;j\_; — ¢ 4_;9\ ;:J\..&\ (a sa’altum-u-bna-hii)

I

8) ;,v;: It literally means ‘rejoice at the good news’. It is said in response to a request and implies:

‘Don't worry. You will get what you want.’

” See the Key to Part 1 Lesson 5.
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o A2

9) i ‘one-third’:

LESSON 7

Fractions meaning ‘one third’, ‘one fourth’, ‘one fifth’ etc. up to one tenth are on the pattern :_};&

# 44 4 ..
The dammal of the second letter ¢ is mostly omitted. & and * M, however, retain it.
y J’

v!/,'f’,
b)Uﬁﬁ

spectacles

soap

Jjuice

football

staircase

wheel

broadcasting,
radio

last night

orange

basketball

coloured

morning

(50 ) aiSs

2y &

24

A\

O3z 7) 8)50
gipw iji,ﬂ\!\

(@JCfJ C) 4->=5

(fem. %\9) J\:C

|

o¢

|

< O

2 9
»b .J.;s-\
8 LAy
Ao A
e

broom

picture

last week

minaret

beard

high, loud

to take

to place

to find

to look for ...

half

to walk



LESSON 8

LESSON &

This is a revision lesson.

Here we review the mddi with the isnad to all the pronouns except those of the dual. The isnad to the
pronouns of the dual is taught fully in lesson 30.
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LESSON 9

LESSON 9

In this lesson we learn the following:

1) The nash ending of the sound teminine plural:
We have learnt earlier that the normal nash ending of a noun is “-4°, e.g.:

A oy &
Cds ol

[~}
s £ -
oS Sl

Now we learn that the r7ash ending of a noun in the sound feminine plural form is ‘-1’ instead of -a’
e.g.

. k,:,\E;J\ 9 g\jj\l\ é,j | |y ‘I saw the sons and the daughters.’
- Z - FR
In this sentence both E,\;QV\ and C)\:ﬁ\ are objects of the verb o) |y, and so they are both mansiib.

The noun 5\3:‘}“ has the regular ‘-a’ ending, but the noun ;:)\.:SJ\ had the ‘-1’ ending because it is
sound feminine plural which ends in “-it’. Here are some more examples:

.&,’ajﬁ[\) ;.»\j«w 213\ :51.;- (as-samawat-i wa |-ard-a).

‘Allah created the heavens and the earth.’

. gm')ié:.ﬂ\j ;,5313'458) gﬂfﬁj\ :Qi}é (al-kutub-a was-suhuf-a wa I-majallat-i).

‘I read the books, the newspapers, and the magazines.’

.g:ﬁ;.ﬂ\ u.g aw;ﬁ\};—;\!\j é};’-}!& t)i (al-ikhwat-a wal-akhawat-1).

‘Indeed the brothers and sisters are at home.’

Remember that the nasb and jarr endings are the same in the sound feminine plural form, e.g.:

. M;»};\.é\.;;s\ LE? W\QUQS\ Oi ‘Indeed the female students are in the buses’.

" o p
Here CJ\.«;SUQ.S‘ is mansiib because of Oi and <o) is majriir because of the preposition Lsé,
but both have the -i ending.

AP 32 % ,
2) We have learnt that &1 |y means ‘I saw you’ and a) |y means ‘I saw him’. Now we learn the use of
the pronoun of the first person ‘me’. Note the following:

(,Ws\ ; “You saw me.’

(@

Z.U\ “5;5.1.;- ‘Allah created me.’

# /i
r JJ\.‘J\ GJL& “The teacher asked me.’
The pronoun of the first person is only ‘-” but an “-n” is added between the verb and the pronoun -1

26



so that the final vowel of the verb may not be affected due to *-7’. As we know ‘you saw’ is G B

z
- . of~ o .. 0 - S Gt e .
(ra’aita) for masculine and g,.gb (ra’aiti) for feminine. If we say ‘ra’aita-1’ or ‘ra’aiti-i’ the Arabic

phonetic system requires the omission of the vowel ‘@’ or ‘i’ before ‘-i’. So the verb in both cases will
become ‘ra’ait-1” and the difference between the masculine and feminine will be lost. That is why an
‘-n’ is inserted between the verb and the pronoun -1’ (ra’aita-n-i, ra’aiti-n-1).

- 4 4
The nin is called ‘the niin of protection” 4 13 j)\ J ¢ because it protects the final vowel of the verb
from omission.
Even English has the niin of protection. We say, ‘a book” but, ‘an aunt’ with a 7 to avoid the clash of
two vowels.
3) How to say in Arabic ‘How beautiful is this car!’, “What a beautiful car this is!’.
This is expressed in Arabic by !g)\.f:ﬁﬂ ol (}1.;\ .
s o _ . i
This is called VMJ\ 3&? (i.e. Verb of Wonder) and has the form l4s5] Ls.One can use the

A2 . =
pronoun & or any other »ash pronoun, or replace it by a mansiih noun e.g.:

. ok
le bl B ‘How good you are!’
!\.A}E.ﬂ e ‘“How poor she is!’
P & o £ _
'( }ég.d\ }':f\ (W ‘How numerous the stars are!’

.Q»'SVU\ RV ;}.é.w‘ s “How easy this lesson is!’

4) We have learnt in Book 1 that the noun after L takes only one dammah, e.g.:

iy tedy sy sy

Now if the noun after b is mudadt, it is mansiib, e.g.:
I G5 L <O daughter of Bilal!”
!;\»}u =) b <O sister of Muhammad!’
Y@T :;J\’ L ‘O son of my brother!’
1S &5 L <O Lord of the Katbah!”
!g.U\ ./Jfé L ‘O servant of Allah!”
1SS Lh L ‘O Abu Bakr!” (literally ‘O Father of Bakr!”).
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LESSON 9

Note that the mansiib form of j.f; Jis LI,

! /j L ‘O our Lord!”

5) We have learnt in Book 1 that the noun afier \4,55 (how many?) is singular and mansiib. But if the

word 4> is preceded by a preposition, the noun following it may be majrir or mansiib, e.g.:

¢ is:k.& Y\.:) ;,./5 ‘How many riyals have you?’
¢ \M Jy / \JL vﬁ; ‘How many riyals does it cost?’

Here both \;j L, and JL are permissible because of the preposition - . In the same way we

can say: § @é / \»ﬁf (,f & ‘inhow many days?".

6) When the interrogative s is preceded by a preposition, the a/if of s is dropped, e.g.:
L+ < T & ‘with what?’

L+ J— (Q ‘for what?’ ‘why?’

s —l-u,e e ‘from what?’

Note that the nitn of :fg has been assimilated to the m7m of (s (min + ma — mimma).
L+ :)./c — .+ ‘about what?’

Note that the niin of :j.a has been assimilated to the min of (s (‘an + ma — ‘amma).

7) We have learnt the relative pronoun LgJJ\ (masc. sing. ) and LS‘M (fem. sing.).

Now we learn their plurals. The plural of Lg.,\.s\ is -p and that of LE’M is ,'*’\ i,
Here are some examples )
Masc. sing.: .b.b— Oy J.:J.J\ w&i o Cf; Ls.;\j\ :};ij\
‘The man who left the headmaster s office is a new teacher
Masc. pl.: . JJ.?— Qy).)ua J.“sJ.‘J\ ;,.:g,a . \j";" J:.U\ J\;—)\
“The men who left/the head/ma/ster’s office are new teachers.’
Fem. sing.: . §;,3.J.i.5\ éﬁi 5\.&3:\1.5\ %\.AT gzﬂiml;- gsfj\ :.4\545\

‘The female student who sat in front of the lady teacher is the headmistress’
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[LESSON 9
daughter.’

Fem. pl.: YR :1)\:5 5"..»3:\.:».5\ %La\ ONES LS/:‘)U\ :ﬂ\.éUa.H
“The female students who sat in front of the lady teacher are the headmistress’
daughters.’

P4

8) We have learnt the particle | turns a statement into a question.

If the noun following it has J\, the | changes toT, e.g.:

Nal 3@ &uju\.aj\ — ¢ &l JG 33@ ‘Did the teacher tell you?’ (al-mudarris-u?)

z

et ¥ %}:J\ — ¢ & g }ggf\ ‘Did you see him today?’ (il-yaum-a?)
But:
Al S 1de — ¢ Sl 2l 1JR) <Did this student ask you?® (a hadha?)
9) The final (¢ which is pronounced «/if is written a/if when a jarr or nasb pronoun is attached to the
word, e.g.:

Zo . . By~o . x .
Wt ‘meaning’ —> slias ‘its meaning.’

‘_5}/5 ‘he ironed” — o jf ‘he ironed it.’

A
2 - 24 4 e . . . .
10) dlwas) .>J.>.J\ &}M\ ‘the five new students’: here the number is used as an adjective and so it

comes after the ma ‘diid. Here are some more examples:

2 05 A

Z{JQJY\ w\ — ‘the four books’.

o - ¢

3}&&.5\ :j\:—)\ — ‘the ten men’.

2o w ¥

) &\.x.,a}\ — ‘the Six Authentic Books’ of hadith.

o ~ A /5
M\ CJB}'-V\ — ‘the five sisters’.
1) § aad padl JI
Note the following:
N é,gs; ‘I saw Bilal.” without emphasis.

: here p A u‘si has been brought forward for the sake of emphasis.

. é,.: | B \[37\.9 ‘It was Bilal that I saw.” with emphasis.

The second construction is used in case of doubt or denial.
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list

connection

meaning

moment
a number of
questions

to attend, to be
present

You have done well.

Well done!

mud

bell

fire (fem.)

30
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it (the bell)
rang

to create

to raise

jinn

iron (metal)

like this, so

a number of
books

capital city

mixed

like that



LESSON 10

LESSON 10

In this lesson we learn the following:

1) The present tense of the Arabic verb: The Arabic verb has only three forms. These are:

(a) the past tense which is called the madr P \.;.H,
(b) the present-future tense which is called the mudari* }C )\..:'aij\, and

(c) the imperative which is called the amr j;\“ .

We have already learnt the mad.
In this lesson we will learn the mudari‘. We will learn the amr in Lesson 14.

<

In the mudari', one of the four letters O | < (¢ is prefixed to the verb.
~ 25
We have learnt that ‘he wrote’ is g:,..,..{ (kataba). Now ‘he writes’, is d,mgg (ya-ktubu).
}G F . . o, . . .
Note that gf,.‘&; means ‘he writes’, ‘he is writing’, or ‘he will write’.

. 2o, -
Now let us see the difference between the forms of the mdadr and the mudari* d,.«”g:g ;,af :

We have learnt that most Arabic verbs have three letters or radicals. In the madi the first radical has
fathah and in the muddari*® it has a sukiin. The third radical has a fathah in the madi and a dammah in
the mudari‘ . The second radical may have one of the three vowels (fathah, kasrah or dammah) both
in madi as well as in the mudari ‘.

According to the vowel of the second radical, verbs are classified in six groups.
We learn four of these in this lesson.
(a) a-u group: in this group the second radical has ‘a’ in the mddi and ‘v’ in the mudari’, e.g.:

- < ‘he wrote’ (f,.& 5 ‘he writes’ (kataba / ya-ktubu).
322 ‘he killed’ }me 1] ‘he kills’ (qatala / ya-qtulu).

R
NES ‘he performed sajdah’ .L;;f.,.j ‘he performs sajdah’  (sajada / ya-sjudu).

(b) a-i group: in this group, the second radical has ‘a’ in the mddi and ‘i’ in the mudari‘ e.g.:

Oyl ‘he sat’ Jpdi hesits’ (jalasa / ya-jlisu).

Q}:a ‘he beat’ < J.;g ‘he beats’ (daraba / ya-dribu).
J.&:é ‘he washed’ M ‘he washes’ (ghasala / ya-ghsilu).

(c) a-a group: in this group the second radical has ‘a’ in the mddi as well as the mudari‘ e.g.:

2

g:,.:b.; ‘he went’ ;,ng ‘he goes’ (dhahaba / ya-dhhabu).
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- //. R . ~
v: ‘he opened’ 2 ‘he opens’ fataha / ya-ftahu).
e P -— P y
s i 4: <]
i ‘he read’ iy ‘he reads’ gara’a/ ya-qra’u).
B ] ya-q

(d) i-a group: in this group the second radical has ‘i’ in the mddi and “a’ in the mudari’ e.g.:

o
R o

(/,..@.é ‘he understood’ R ‘he understands’ (fahima / ya-fhamu).
- 2 A .- . 2
O ‘he drank’ g~ ‘he drinks’ (shariba / ya-shrabu).
- }

.- . Lo . /
Lbas ‘he memorized’ sz:.g ‘he memorizes’ (hafiza / ya-hlazu).

-

As there is no rule to determine the group of a verb, the student should learn the group of each new
verb he/she learns. All good dictionaries mention this. While expressing a verb usually both the niddi
and the mudari are mentioned together. If you are asked the Arabic for ‘to write’ you say:

s 1 &
2) Numbers from 21 to 30: The two parts of the numbers are joined by o, e.g.:

Wb Oghass Al

Note that:
a) the first part of these numbers has ranwin, e.g.:

- o ! - ° " £ L ° Lt - ° 8
o 2 P - o 2. s o Ao L3 & o Ao
O9pind g dmend ... (U989 A.a.u\ (09,89 Ky (O 9 pins 9 v\%’\j
the word OS1, of course, has no famvin.
b) A=l4 and OLJ! are masculine with the masculine ma diid. But the numbers from 3 to 9 are
feminine, e.g.:
Z 5. 7 e ’f./oi Zs . 7 ° ’f.:,/,., Z 3 -, ° Z.s . 7 e *
63)\9,-) djj.&«.f«} 43.;)\ 43’\2-) djj.é‘«f«j &G 43)\:,-) d}}?«f} g/)bl 43)\-?-) d}j.«:‘«e) .l}-\)
z o 28 z o 85 Z o 28
AR N 2 Y A S A NE 2% w0 1
.5\.‘7—) d}rm.g«jw. c}&a—) d)f...‘.f»)s\...:v cy\:.-J ijun%jw

¢) the ma ‘did is singular and mansiib.

“ s @ 4w NT i :
3) \.’uj Yi A.z..f\.ﬂ\ ‘quarter to nine’: Y| literally means ‘cxcept’. Note that the noun after Yi is mansiib.
Note also the following:

° oo 2
E 1 B 4 W < . R
LBy Jas Yi RERINI P TlbR] ten minutes to one.
65 -t V) BN R
/.q ~ o 4 v & - ¢ 1 2
(BB G 3] 4] 4 five minutes to two.
/ - * - - i/
d-lg 4235 Y Lol &8l cone minute to five.’
- ) e

e
£

‘o

.
o\
N\
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LESSON 10

4) We have learnt the two meanings of :}JJ in Lesson 1. These are:

(a) I hope and
(b) I am afraid.

¢ @ da 2 2
The first is called f}ﬂ\ and the second J\.L&m )

In Y J.>-Li jJ\ A.LJ itis dwy\ as it means ‘I am afraid he will come back late today.’.

5) ;,33 ‘between’: The noun following it is majriir because it is mudaf ilayhi, e.g.:
J...,a..s 9 J}L g Jw\.>- uwl:;- ‘Hamid sat between Bilal and Faisal.’
;,.q should be repeated with pronouns, e.g.:

;Jw \J.A “This is between you and me.’

A\Y
\E:
| 2N

always ')\_,Q_c J,:,.NO/ }oj« to work (i-a)

to perform
sajdah (a-u)

gf”; once again S)\;-’ ‘) }’Uv/ 1] ‘/ Pd/ 5 todo (a-a)
-Eg . Z & 9 Gt o B . '
&b /& width L’ j§ ) &:»5 J ;,./f |y toride (i-a)
a5 distance \_;; jf g c§ R o to bow in

prayer (a-a)

e OO\,

sometimes \JW W v\->=->

° - -
j,;:,o j‘t"‘f kilometer o office
”0 ° . AR -
W centimeter J,a\& laborer
2
° R
j:.,a meter J jl" length

PP ~, R-0.
&.‘; between L,._@_,w» between them
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LESSON 11

In this lesson we learn the following:
o
1) In the previous lesson we have been introduced to the muddri’, and we have learnt &Au\.} ‘he goes’.
Now we learn its isndd to other mmmlm

(a) The plural of ;,Jb..b is O MML (va-dhhab-iina) ‘they (masc.) go’. Here is one more example:
. 5”\""“’/ O }f»jiﬁ u{}:—l ‘My brothers are studying at the university.’
(b) ‘she goes’ is Q,AWL (ta-dhhab-u).
¢ oY :l\.ng ﬁ,fg; |3Ls  ‘What is Aminah writing now?’
V/Jf ds‘ :"J\.;u ) L.fg: ‘She is writing a letter to her mother.’
(¢) The plural of ;,Jb.b is - R wL» (va-dhhab-na) ‘they (fem.) go.” Here is another example:
Aajaall A0k L;:Béb aalidl 0,250 g5
‘My brothers are studyoing at the university, and my“sister/s are studying in school.’

(d) We have just seen that d,:hv@ means ‘she goes’. It also means “you (masc. sing.) go’.
(e) ‘Tgo’is g_,«ﬁw:ﬂ (a-dhhab-u), e.g.:

¢ J}b H—*‘“J‘" u—" ‘Where are you going, Bilal?’

. @;J\ ujl ;,5:.5\ ‘T am going to the market.’
(f) “You go’ for masculine plural is .\ «i»b Ls (ta-dhhab-iina). Here is another example:

2 - -
¢ o J’-i Lo jj:.mrd |3la  “What are you drinking, brothers?’

o
2) We have seen earlier that .3 means ‘he goes’ or ‘he will go.” Now 10 make the mudari* cxclusive
for future, the particle .- is prefixed to it, e.g.:

Jae G N ) Cads ‘My father will go to Makkah tomorrow.’

z-

.:\.U\ ;\.:« Q\ 3.5\.&) ;‘J.S Q,.;fh» ‘I’1l write a letter to you.’
This —. is called ,( - 2 ~ (the particle of futurity). Note that _&» is not used i questions,

e.g.
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¢ :\Z-@J‘ 651 djb-b: LSE; ‘When will you go to India?’

3) We have learnt earlier that the m¢di is made negative by using s e.g.:
Rt EJST s <1 did not eat anything.’

The negative particle used with mudari* is '}}, e.g.:

\ \ ‘I don't understand French.’
s

g

. 5}.@_;?)\ Ry N o don't drink coffee.’

s . ¥ e A2 '? ° e
4) The masdar is the verb minus the tense and the subject. So J}'-J means ‘he entered’ and J}-J\g ‘he

2R
enters’. But J j>-.> means ‘entry’. The masdar in Arabic has many patterns. Here we learn only one

of these, and it is ina, e.g.:

A2 P
3 ja-; ‘entry’ from J}J .
2 A ‘exit’ from > 7=

2R <
> j.;uf» ‘prostration”  from A5l
ST . PR
& )f  ‘bowing’ from c{ e

} ~
Oy j.l.;;- ‘sitting’ from &wl.;-

The masdar is a noun so it takes J\ and fanwin, e.g.:
B’ B Ay AW . .
. &)"M Jy.ﬂ\ ‘Entry is forbidden.’
S PR | . .

. gj.;d'J\ J“’ jfjj\ “The rukii* is before the sujiid.

J..LJ\ C 9 j>- J,ﬁ M\ \::;- J.>- ‘We left the class before the teacher’s exit.’

5) \%: This is a very frequently used word. It is used when we speak about two or more items. It can be

translated as ‘as 1‘01 ’, e.8.:

v.u\ u:\ s ‘Where are you from?’

OB e 38 mapl ol Ly (DEusTy 2e 35 N BT LT 2

‘I’'m from Germany. As for Bilal, he is from Pakistan, and as for Ibrahtm, he is from Japan.’

35



LESSON 11

Note that the khabar after s\ should take .. Here are some more examples:

z

P N T
¢ 5L 9 4 Fel :,.{M;: Eﬁ\ “Where do your brother and sister live?’

s s s £
w PR o . . @ P “ e
‘My sister lives with me. As for my brother, he lives with my father and mother.’

¢ gu.l}ﬂ QUJ/A ;,_i; ‘How much do these pens cost?’

—

il

. 9};&,..9 A3 G JU » 1J& “This costs one riyal. As for that, it costs 10 riyals.’

e

6) Q.:'w‘ means ‘my brother’ and a}‘ ,-74 | means ‘a brother of mine’, ‘one of my brothers’. The first is

\,

——

definite, the sccond indefinite.

z

. Ay A 2% P
Cnms | forgot c\..f»\).; ‘ L,u).) :)’“)‘X:’. L_’fo)_b to study (a-u)

to descend (a-

. : . N 2 By o oy
| (2\4)9\ > ) :,.:)9 relative ‘y)j_, Jﬂ J}, N
4.)9_;;; station 4\:9 J,:u :j J;"’ J}é« to know (a-1)

2 z . z & 2 - .
N "Rt 2 2 o -~ - ¢ . tostay/to live
@'}B barber L&.w ¢ \A}g.w b&.«q di.w (a-u)

¥ ef z ) @
i . 220wz e P4 -~ 5 - - tolook for (a-
))\ rice L}u — %&»«J\ g& e 2)

)
} 'ﬁo/

28 Z 2 R
Q\ j“"’ address & 42 - j:u s.)\.» to die (a-u)
o7 z °_ 2 Ao “ -
RIS N s A 2 o™ 5
LS =) Dgd clothes \ }_i.,e )_i,:,.. J§~» to thank (a-u)
(¥ 7)) <5 ; P
" = T - N
- gmp clinic |3 j;up M J=.2 toascend (i-a)
e
63\3 coming {5 ¥ letter
MUQ_: visiting card 4.'2}..,\.1:@ pharmacy
B’ o -
J.a— horses
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[LESSON 12

LESSON 12

In this lesson we learn the following:
1) The isndd of the muddri‘ to some more pronouns:

(a) We have learnt that d,}:i\g (you go) is for masculine singular.
Now we learn ;ﬁ:\i:\; (ta-dhhab-ina) for feminine singular, e.g.:
¢ 3)7\4 L d,.fhjbi &j “Where are you going, Bilal?’
¢ :l\;gT L :ﬁ.‘fbjﬁ &j “Where are you going, Aminah?’
(b) We have learnt Z) jf:h:@ (you go) for masculine plural.
Now we learn :ijbj):: (ta-dhhab-na) for feminine plural. Here is another example:

A L@ NIRRT .
¢ Olgxl L & JSSYI O sagss] ‘Do you understand English, brothers?’
21 b LAY 0yl d

P4

X
_—

¢ gﬁ.) };i L Zi.f;;..:}gj\ ‘:Ii_é,m ‘Do you understand French, sisters?’
(c) We have learnt d,.:b.oj means ‘I go’.
Now we learn ﬁ_,jai\.: (na-dhhab-u) meaning ‘we go’. Here are some more examples:
¢ i}\ }"1 L O j.f;og;: |3ls  “What are you writing, brothers?”
Bl :,;oi/: ‘We are writing letters.’
¢ é)\}.;j L ;:;kf |13Ls  “What are you writing, sisters?’

o
I } - o, .
Lol jj\ ﬁ;,.i; ‘We are writing homework.’

] #E A ke 1 P - < 0. . _ . "
2). ;:,.,MJ\ £ 52 J}’\i & ‘Bilal returned on Saturday.’. Note that ¢ 18 mansiib. That is because it is

maf il fihi (adverb), 1.e. a noun denoting the time of the action. Here are some more examples:

i - w 3 T LRy . 3
> djm‘ LA D ‘I went to the market in the morning.’
2l o e - . 2o - ¢ . ) : . ,
alla 5\&3\95.” o LR [ returned from the university in the evening.
e T e :
. fﬁ Jf 5\.,&‘».5‘ szi a3l ‘T go to the library every day.’

e 2 %); &.;O-EM‘ Jl (f‘./;aj\_w ‘I’1l go to Taif on Thursday.’
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LESSON 12
¢ Lo s g’f,.fb.,\f Cﬁ‘ ‘Where will you go this evening?’

3) As we have seen in Lesson 6, Ol is used after 3\5 and O after other verbs, e.g.:
\w EI W yw
. 5\.U\ Je Lf’i Jb ‘He said “I am the servant of Allah.””

T2 Wz .eNL - 4 N\ . o
Jae C)\.x:.e}!\ ol il ).,L‘J\ JB  “The teacher said: “The examination is tomorrow.””

# /. /. e [~] .‘h" A P " " w s
s dbw}“ Ol Cmaly ‘I heard that the examination is tomorrow.
z . . o e P

Jue dbw}” ol :;,.H ‘I think that the examination is tomorrow.’

- Zz == 2 _° _ - :
2\}; medicine S_)\_@_,& .J.@.Mg .,\_g__.,u to bear witness (i-a)

age ° # - 2 P <} N - -
Ju».b pupil \~§>L~& gf,.L‘»..@ L\}M‘o to laugh (i-a)
P e = R &
:_.Q.: La telephone }Q_p work
w3 " - I I
4:> )\9;5\ ;.3) 9 foreign minister )L?, neighbour
LR , B
et /. i \ j homework {'_g ) number
s 0
.2 j time
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LESSON 13

LESSON 13

This is a revision lesson explaining the isndd of the mudari‘ to all pronouns except the pronouns of the
dual.
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LESSON 14

LESSON 14

In this lesson we learn the following:

1) The amir (the imperative):
The anir is the form of the verb which signifies a command like ‘go!’, “sit!’, ‘get up!”’.
The amr is formed from the muddri* of the second person by omitting the initial ‘ta’ and the final
‘-u’ as explained below:

2 Ly - o %2
g,,..:& — ;,.:f ta-ktub-u —> ktub

Now the resulting form commences with a sakin letter, i.e., a letter not followed by a vowel. This is
not permissible in Arabic. To overcome this difficulty a hamzat al-wasl is prefixed to the verb. This
hamzah takes (ammali if the second radical of the ami has a dammah, otherwise it takes hasrali, e.g.:

}fS: —_ °is —_— °f5\ ta-ktub-u — ktub —> uktub
L4
s sy — u~l> — w\"‘ to-jlis-u - —>jlis  —> ijlis
o o

-
}:“

c.\.fu — GC;’ — QC':‘Q/‘ ta-ftah-u —> ftah —> iftah

This hamzat al-wasl is pronounced only when the amr is not preceded by any word. If it is preceded
by a word, the iamzah is omitted in pronunciation though it remains in writing, e.g.:

g:,.}ﬁf \ uktub
ST I L yaBilaluktub (not: ya Bilalu uktub)
iqra’ wa ktub  (not: iqra' wa uktub)

\}3\5 iy | uktub wa qra’ (not: uktub wa iqra’)

As we have seen this hamzah is hamzat al-wasl, so the sign of the /icim=ar al-gar (<) should not be

written above or below it:

o 2 o ':
;}:f | and not ;,.éf |
UM:L;E and not :I"‘};i

RS PE Aoae. 0 s _ )
The amr tfrom Jf\] is };‘n , and from J5U is =, These forms are irregular and the first radical (¢)

has been omitted.
If the amr of the second person singular is followed by a word commencing with /iamzat al-wasl, the

last letter of the amir takes a kasrah to avoid ,,;;:;f‘L;‘JJ\ HPTI e.g.

AW] u}&j ishrab-i 1-ma’-a ‘drink water!” (bl — bil)
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LESSON 14
<) C.a\ iftah-i Ibab-a  ‘open the door!” (hl — hil)

- . A
g)\;_/Q\ A3 khudh-i I-kitab-a ‘take the book!” (dhl — dhil)
Here is the isndd of the amr to the other pronouns of the second person:

A2 oA £ o A
Jaes b ;ﬁf\ uktub O\}&-i L \jﬁf\ uktub-i

o A - z A
L ij'{ \ uktub-1 & o5 :Jjjf\ uktub-na

2) ¢ J.,a_d\ LSQ u \ The mubtada’ is usually definite, but it may be indefinite with certain

conditions. One of these is that the indefinite mubtada’ should be preceded by an interrogative particle
as in this  example:

¢ Jadl b

Here is another example from the Qur’an:

Pl
=] £

‘A scorpion in the classroom?’

¢ 4153 CA iqj\\ ‘Is there a god with Allah?’
3) :\.:).UQA d\;e d\;.; means ‘because’. Here are some more examples:
0 8
. O\.&fé- 3)4\59 VS Jf ‘Eat this as you are hungry.’

£ o~ oW ] <o A o4 )
NEVENT O JV\J\ Q\;a Jﬁ-.:\ ‘Get in for the lesson has already started.’

e fpfa Oased)| JEl  “Wash the shirt for it is dirty.’

_ 8 z 8 4 4 -
554y strongly/fast U, KL S to keep quiet (@)

[} z
e J.AP scorpion (fem.) L :, >-/. }: % >.;°. ;{ /: 5 >-i to gather, to collect (a-a)
2a z < 4 0 P
L)) paradise b C.f,b; Cda to cook (a-u)

2 = ° - < 0 o’
3 } " 3 ”»
O jf glass PP Cj@v cja_e to cut (a-a)
* - rl uo ~ R o _ ~ 1 ~
Ju  hand s d,l;-u d_l:— to shave (a-i)
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spouse

clot of blood

radio set

weather

stranger

fig

razor

sleepy

dark

z 8 o

83Le Lay s

z 0 ;/o,, o

i ®. g0 -

it ot

i/«o/ 2 ar R A <y~
8355 (1248 24m; 2l
T/Io/: }ﬁ!:v?/ //501

@ P | P
LS 4 .Sf y 15

R
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to worship (a-u)

to know (i-a)

to prevent (a-a)

to return (a-u)

to look at (a-u)

to sweep (a-u)

I don’t know

strength

piece of paper

shoe



LESSON 15

LESSON 15

In this lesson we learn the following:

1) How to say in Arabic, “Don’t go.”. We have learnt in the previous lesson that C,:b.bj means “Go!”.

-

Now we learn that “don’t go” is C,jzw\; Y. As you can see it is the mudari’, but with the omission
of the dammah of the third radical.

] Lo N N . 7. . i}
The particle " used here is called QU\ N (the prohibitive Y) while the Y in J.QS‘ (,..@.5\ Y

2 & e
don’t understand French’, is called A.ZQU\ N
Note the following:
You go. . gr,.z.:U
You don’t go. . gf,.}a.):? N
Don’t go! !wf A5 Y

Here are some more examples:

1A &W/L;J N Don’t sit here!
!J/,,;}Y\ V-L‘%J\J C,éﬁ Y Don’t write with red pen!

1‘_},,4_15\ o CJ}U Don’t go out of the class!
!OU@&J\ .:\.;;5 ‘}1 Don’t worship Shaytan!

Note that in the last example, the third radical has kasrah due to u;:f LZJ) ’;\.&55\ .
Here is the isndd of this verb to the other pronouns of the second persor/lz
O g eaB Y bl g as Y
la ta:ihhab la tadl;hab T
TG a6y AnElgonB Y
1a tadhhab-T I5 tadhhab-na
2) ‘The boy almost laughed.” means that he was at the point of laughing, but did not laugh. This idea is
expressed in Arabic by the verb: 3\:(3 5.

2 o £~ P
NOSEYRNUA NS ‘The boy almost laughed.’
2 y g
. }C}é &»}:&.‘J\ 35 “The teacher was about to leave’

. } N ~
The mudari* is J\.gg:
43



2 LESSON 15
. :){2 &»»};J\ ;L“N “The bell 1= about to ring.’
gﬁ: %\5‘}“ 3\5\« “The imam is about to perform rukii*.’
Note that 3\.&.’: 3\/5 is tollowed by a noun. and then by a verb in the mudari*:

2
5\S +a¢ 452 noun + a verb in the muddri .
[

3) We have learnt that the negative particle used with the mucldri* is Ve g.:
. Zi;.;:}/ﬂ\ f,.éj N ‘I don’t understand French.’
. 5\&:9};:.5\ /O.E g;_,.;l;.“ ujl gf,:bl: Y “We don’t go to the playground on Fridays.’
If s is used with the muddari*, the verb refers to the present time only.
Note the difference between Y and Ls

; 8}.@.&5\ Ny Y ‘I don’t drink coffee’ i.e. as a habit, but

jw
- - 3 0o % .
.8 j—é—"M g.);.:u‘ s ‘I am not drinking coffee now.’

S 5 L5 S -
4) Note that ‘| cat” is |5 |. It is originally Jf I\ but the combination | | becomes . In the same way ‘I

°
}};E

take” is -~ for J=Il, and ‘I command is «.d for }’lH,

3 - 2 o @
- v B SO I . v { - i ¥
5) 'Jj*ﬁj‘ u}\ jjm\ Lol “T'am onlv looking at the pictures.” sl means ‘only’. Here are some more
5 £

examples: )
A, S L 00 LS Y G
/ ) “You are not writing the lesson. You are only writing a letter.’
. g@\i 3\.2.09;‘}1\ Lu:‘ ‘Actions are judged only by the intention.’
-4

TR AR o
.%bfui.u CJLQJ.:AH o) “Charity is only for the poor.’

-

N ‘o‘ z - X k° _ -
A=ae seat \.:.,\.§ q.«\.i: g.).,\f to tell a lie (a-i)
Y3 - P
;L‘J‘ 59 during ;\gj é: éj 1(:(;_?)ry, to weep
,«E N 2 ! " 1 ,/.o
ol b Omy father 3 )jﬁj\ way C,.Ltu\ to overturn
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LESSON 16

LESSON 16

In this lesson we learn the following:

2
1) The verb Jj ‘he wants’, with isndad to all the pronouns, e.g.:

Ay - 2 LA .
¢ J)\a L X j 130 ‘What do you want, Bilal?’
st
VIR ‘I want water.’

¢ i')\j;'-l L bjig; \:5\.2 ‘What do you want, brothers?’
. La}’\.@] Jujj ‘We want some pens.’
| SRS 135 ‘What do you want, Laila?’
Note that the initial letters denoting the mudari* O J e have dammah. This happens when
the verb has four letters in the mdadi. You will learn more about this in Book 3 L; a7 ﬁj\ E.L:“u odl

P

- .2 °/E . - o/E
The madr of this verb is 51| ‘he wanted’. And ‘I wanted’ is <5, and ‘you wanted” is <.

2) We have learnt the interrogative and the negative L+, e.g.:
¢ Slaai i “What is your name?’
@ 2 o0 7 2 .
- JJ.S\ Cwogd s ‘I did not understand the lesson.’

Another kind of 4 is the relative Ls which means ‘what’, or ‘that which’, e.g.:

-

T Y - ] )
L0 jv\,’;&? s el Y ‘I don’t worship what you worship.”

8-
In Arabic this is called 4 };}U\ s,

3) We have leamtjg . When uj.jaife it becomes \3, e.g.
. Jg jja Z;.;"o ji C_Lj \L Q.:a; L59 ‘In our class there is a student with long hair.’
. JUL J.;:”» E u\./b é,j; ‘I saw a student with long hair.’
/ / 45



z 2 ':
\

Z 10 - ‘ Lo % 8
.{:./SL;}F ,«“WA

‘I want a copy of the Qur'an with large letters.’

P

a

4) Proper nouns on the pattern of |=b are % 2/l © o ¢ ol eg:
A’ o |- e 4

NERRNE

25, Lo EIPa .
The word . L& is the name of a pre-Islamic idol, ; means Saturn and *j is a proper name.
2 |y ) ) prop

This pattern of proper names is called J 7&1» .

Note the i ‘rab @\}2—}[\ (declension) of this type of nouns:

- A L /. 3 9
j.«.:« d P Umar went out.
P T
}0.9 eIl ‘T asked Umar.’

& I E I
s 31 23S “I'wrote to Umar.’

5) We have learnt in Book 1 some words denoting colours, e.g.: j;.-;-\ ¢ 3}3\ ¢ :ﬁgi \ cj.:i:a\. This is

the masculine singular form. The feminine singular form is on the pattern of &«
2 of s\ % oe
Jyaz) ¢l
2 _ % (70
Jj.w‘ ;‘Jj.aw
z
5 ] A

Both the masculine as well as the feminine forms are * .| o

Here are some examples of the feminine form:
<, o~ . ° - A - : ‘/ o . “ . -
. ’;L,az; 63?4) cbj.w\ LS”/“‘J j.x& ‘The hair of my head is black, and my beard is white.’

o . & @ . ) .
.’;\},b;’- 5}?;&.5\ odn “This tree is green.’
.ﬁB;} é\;ﬁJ\ ‘The sky is blue.’

There is only one plural for both the masculine and the feminine forms. It is on the pattern of |23

e.g.:

.j,i.;;s\ }.Sjiéj\ ‘The Red Indians.’
¢ A0 AL Sy B, O (N o

46



LLESSON 16
‘Who are these black men, and those brown women?’

6) The proper name jj:*-; is written with a waw which is not pronounced. This is done to differentiate

. F } . — . . . . } °/ . . . .
it from }»& . This waw is, however, omitted when it is & ' o220 because in this case their spellings
are different:

| o& EJL (‘Amr-an) is written with alif; while

.4 A2 % . . . . o, . 20 @ = o fo .
s eIl (‘Umar-a) is written without it because it is <2 ):45\ e C _gas and therefore

has no ranwin.
7)< :}..M;J\ s j>'-\ :j:\ ‘Where is your brother Husain?’
- PR -
Here, the noun &:.:M;J\ is called hadal 3415\ . It is a substitute for i&y\ .

.. . A0 Y . . L.
The badal is in the same case as the mubdal minhu 4. Jw\ 1.e. the noun for which it is the

substitute. Here are some more examples:

. ~o~ K480 e . . ,
W g_,.g j AM; His daughter, Zainab, is a doctor.
. Lw\f-a éll-yj; u_ﬁ; B ‘I saw your classmate, Abbas.’

o b, . F
J)}\.s )j;f.ﬂ\ U.}L:M\ LSSE L...:/f ‘We wrote to our professor, Dr Bilal.’
o .’fl - P é P o &
Here , 525 Ml is the badal of G3Giwl, and I is the badal of ;&S ).

8) :,>-\ means ‘another’. Its feminine is (575, e.g.:

. j.;-T &.}Uo} ;..“.,9\;32 %};ﬂ QL; ‘Today Ibrahtm and another student were absent.’

}T s (5:\.:.9 ‘I have another pen.’
s W PRI ;
;.>— Lo )J&; 9 L )Jj) é,.s\.& ‘I asked our teacher and another one.’

&f\wgf\ukbw\ )L&Jjﬁsuﬁ 5

‘Zainab is from America, and there is another student from America in the class.’

o 4
3

£ TR s, L
LA iy et 850 Sl

‘I memorized siirat al-Rahman and another siirah.’

é 28 Lo
Bothj.:;-\ and (5| are 5}}45\ o Cj,w}
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LESSON 16
9) The word 2 x| is gm’};fszzj\ B i s
10) The difference between \)ﬂ‘ /,.;z,“ and bme2alls A copy of the Qur’an is called I
That is why we can say:
. g/)\.;.;u,oa.i LS-;’:-? ‘I have two copies of the Qur’an.’.

’3 s, - © 28

N 3 ° .
C(S s i ﬂ\f:j czg./LJ} ISPV RRY
“This is an Indian edition of the Qur’an, and that is an Egyptian edition.’.

B R
But it is wrong to use the word O JJJ\ in the above contexts.

11) Ll ;b‘» s means ‘I did not eat anything.” or ‘I ate nothing.’

Here are some more examples:

Z

° 2 o, - .
R EoN2 <y s ‘I saw nothing.’
s “We read nothing.’

@

Y ) a 8
.2 2 . B " . 2 a0 I s
12) /,l;ﬂ,,f,,,q 450 ‘ruled paper Jh.w.» = O )9 ‘unruled paper
&.o:.:a ‘correct’ Co;:p gl ‘incorrect’
28 o £ % o & a0 a
(,J.w ‘Muslim’ o ‘non-Muslim’

z

Note that the wordj,:.é is mudaf, and so the following word is majriir.

L. % 2, e ., - ° 2 COpy Ofthe
J&- ) Saturn (g.)-%\-«é-ﬂ C) LA 2P Qur'an

2 &\~ chalk (No il 52 ¥y

Fr L..b tanween) (2 St d ) a2 TOW

-

Bl

1R
C_)},N sample
o % P L. 0z ﬁ
(FLs) ) £ hing (Rl ) Lplod cloh
, L - 8 A #, 2 .
(=)l o Cwa) j:—\ another (jﬁo C) 8 )42 picture
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LLESSON 16

(8 f"':":’. Ls;;,.,dl to buy

&,
i - .. .
4y .,\_L municipality

(S50 i (G 2) s3>

LI

M narrow
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LESSON 17

In this lesson we learn the following:
1) How to say in Arabic ‘I want to ¢0’. The Arabic for thisis 23! O . \|. It literally means ‘I want

that I go.’. Note that g;,.jﬁ..)\ is mansiib (i.e. has 1-ending), and this is caused by the preceding particle

Ol. Here are some more examples:

B - e £ 4 {ﬁ
¢ ;o) ) ‘Do you want to eat?’
RPN .

¢ Shas o g Bk “What do you want to drink?’

- £ o~ 0% 8 2
LEEG) &«./Bu ol “We want to sit in front of you.’

o @ _ /0 _ o’ £ 4 o 2 2 .
. \ cJa.: ) Y R ‘Zainab wants to cook meat.’

65\ u\ ;,w.,u\ u\.: J; “The doctor wants to return to his country.’

2) How to say in Arabic ‘I study Arabic to understand the Qur’an’. The Arabic for this is:
A Z
—_ A Of o~ f‘/.w °
TR e Gl S sl

Note that the mudiiri‘ ~28\ is mansiib (i.e. has a-ending), and that is because of a hidden O after the
("'@"e' g

- N AN
[am. This lam is called the |l 23,

Here are some more examples:

. 3 LY AGSIl 3 E2A3 I went to the bathroom o wash my face.’

2
w ° - I
2 (- > 3% o ova¥ & o -, . .
. g\.g.ﬂ‘ > )"'J o.Xg\.;J\ G ) ‘I opened the window so that the flies may go out.’
\
e w -
87 g0 - _z 4 A B . .
. ov\,,vué LSS\N ) Calx ‘Allah has created us so that we may worship Him.’

3) ;w “It is possible’
¢ La s
o -~ 'E rd } } -
QW,\N ) éiﬁl.g c}.’u “Yes, you may sit.’

Y /C} < O ‘ﬁ:{:’é N e canmot 20 out now.’

T

O g;;,gj'i | “May I sit here?’ (literally, “is it possible for me that I sit here?”).
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4) on is a preposition meaning ‘since’, e.g.:

g,::A\ ( j’ ?j ”°\ )La ‘I have not seen him since Saturday.’

° e et . . .
. ﬁj,’;w\ .,Lf: :,_/?Lc J)’b ‘Bilal is absent since one week.’

5) If the fa ‘il is feminine, the verb should also be feminine, e.g.:

R @ - R P

S U R T ‘Muhammad entered.’
’1/ - o T - . = .
4;.,3\ N ‘Aminah entered.’

s é - /5 ° o]
. 2\%\.«.531\ &) ;,.3.9\;.’1 :’f»jv\.? ‘Ibrahim is studying German.’
. :“\fw}a.s\ 4.&153 ;5}3 O )Ju 9 ‘and Maryam is studying French.’
If the /G il is the female of human beings or animals, the verb should be feminine e.g.:
CoA R D ‘Maryam went.’

. S}iﬂ\ <>  ‘The cow went out.’.
But, if the /7 i/ is a grammatically feminine noun, the verb may be feminine, e.g.:
I P S 5
wo|E@ - .7 R E - "
o)L,..J\ > or o)L”w.J‘ T “The car went out.’
That is why we have in the lesson:
/”;\‘g/ /:' /2 ws o . 5 ¥
ELE o (& There are three minutes more,’ and not GOV T

There are other details which you will learn later L;Uu A L3 Z)l

} 1 < s . .
6) . d )j"j\f 4 CA.& ‘He permitted him to leave.’
L u»j.l.;J\.: “g é.;.&l ‘Permit me to sit here.’

P2
\'Aq‘ PNt z

} -~
J?JJ\; E,U ol Y “Idon’t permit you to enter.’

g

7)};-)\ ‘I request.’

B0 R _F o %
K.UQ_Q« holiday (LSS\A&\ ¢ J \A\ C ) 3}3\ people
w\ %\.;.5\ next year /\_>- s }c;wu CZ,.& to permit (a-a)
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flies

supper

calm, quiet

calmly,
quietly

public
announcement

envelope

summer

spring

autumn

winter
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to commence

(a-a)

to be able

to remain (i-a)

to request (a-u)

to visit (a-u)

to spit (a-u)

treatment

I request

air

noise

Egypt



LESSON 18

In this lesson we learn the following:

. . L. _ .0 0Py 2N]
1) We have learnt in the previous lesson that the mudari‘ is mansiib after O} and ) aY,
P ¢

The followmg four forms of the mudari’ have u-ending in the marfii‘, and a- endmg in the mansiib:

°
P

g;,m ya-dhhab-u—> o] ya-dhhab-a

32X tadhhab-u — AL Ol ta-dhhab-a
CA3 adhhabu —> AN ol ‘a-dhhab-a
C,.}:.OJ.: na-dhhab-u —> . o J5 T na-dhhab-a

The forms of the muddri‘ ending in the niin drop the niin after OQT, e
M.b ta-dhhab-ina — L;,m 31 ta-dhhab-r
54A ta-dhhab-ina —> 1,505 O ta-dhhab-d

OsiaJg ya-dhhab-ina —> | }’la:.b ()8 ya-dhhab-ii

In these forms the sign of the verb being marfii ' is the presence of the niin, and that of being mansiib
is the omission of this niin. Here are some examples:

}/ T o ° 2 - 2 . . = .
¢ &al b s ) RS |3Ls  “What do you want to drink, Aminah?’
2 ° _ %% . 0o . & s 05
¢ O\j.ﬁl " \;;A.U ol Oj..bj? JA ‘Where do you want to go, brothers?’
J,,a_aj\ b}-).}u u\ dj.bja ‘They want to go out of the class.’

The two forms Jlb.b and u.«.d:_b remain unchanged after d\ e.g.

3

E ~ 0 }‘
\ 0> 7 | ‘Do you want to listen to the news, sisters?’

-

¢ u\?\ LY aasd g
£ 2
Ls’ u_wbu u\ U/ J.s ‘The female students want to sit in the garden.’

2). :i,L;«LZ«:f 2= o ‘My watch is like yours.’
: T y y

The word &) isa preposition, and the noun following it is majriir. It means ‘like’. Here are some more

examples:

. M@ :i-x.s\ |da “This house is like a mosque.”
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LESSON 18
T .
35¢4)) odms  “This coffec is like water.’

This preposition is not used with pronouns. So we do not say S \3\, i.e. ‘I am like him’. In such cases
the word ;Lo is added between the preposition and the pronoun:
48 B Tam like him., 1057 a ‘Heiis like me”.

>

» £ . L% s, (7 0% oi
3) . Lls zlaV) eda 04BN Ol j;')\ ‘I request you not to take all these things.’.

w ‘Q'l‘ . ~ . . . . V] - } . v 7
) IS “all” is used for emphasis. In Arabic it is called 7a 'kid. The word :}5 is connected to the mu ‘akkad

(i.e. the word it emphasizes) with a pronoun:

8 A
ow} ¥ P
ST M) e e ‘All the students attended.’
2 -
) o_w} v # -
. VVS.J.{ :D\.Ié\,hs\ o ‘All the female students went out.’
\lf um\ u\ s ‘I read the book completely.’

. Lg_(lf E\.&;.LJ\ &9 e g_,.é:.? ‘I looked for him in the whole school.’

w A
Note that the word Jf is in the same case as the nnr ‘akkad.

4) The vocative particle (= - Gl “ﬂ yis L, e.g.:
I *1ed
=56 1d% L

When |, is used with a noun having J\, the word Lf;‘ is inserted between | and the noun, e.g.:

-

1200 &) G 0 people! (not 1281 §)
Nl

5) \W \:ﬁ ‘C'ome along.” it is called r.xﬁj \hu , 1.e. it is a noun but has the force ol'a verb.

Here are some more examples of Jx.d\ V.w
[ feel pain.

2
| I am bored

(y\\z o 1

-—

Cﬁ'f\ accept (my prayer)
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[LESSON 18
. i - l?. ° ¥
6) .oJA nglxﬂ A.ifc« “This tin of sweets’.

We have seen in Book 1 that C'J\;Q\ |ia means ‘this book’. But if we want to say ‘this book of
. ; . T . e
history’, we say |Ja Cg )\.:5\ u\.:./f In this construction | comes at the end because we cannot

say GJ\ gf)\.:g.ﬂ lda as oS is muddf and so it cannot take J‘.
y & - :
Here are some more examples:
| da u,p\.,aij\ ;,.L’é ‘this pencil’
. ] oy Aot
ol U"M Ly ‘this bedroom’
28 . -
. :\l.é;- s Sliels  “This watch of yours is beautiful.’

7 . ° 2
da u.’\;/f J= ‘Take this book of mine.’

DI PRI S-A
85le  habit Q\.S\j.gz.s\ 4> zoo
> -~
o Tt - . @ i ':/]o} 4 summer
e = . holidays
L) A o

3.;19 packet, tin J | j,._c address

-~ ‘l‘w

:'),.u.“))\.; clothes JC.,& gentleman
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LESSON 19

LESSON 19

In this lesson we learn the following:

1) We have learnt that the negative particle used with the mdcd’r is s, and that used with the nudari is
31, e.g.
e 2/5 A2 PR
LAY G 205 G I did not study Spanish.”

P i, L&, o £ 7 .
.45 ) - JC—\ M ‘I don’t know his telephone number.’

e

=z

Now we learn that the negative particle used with the future tense is ‘ This particle is like O, and
so the muddri* following it is mansgiib, e.g.:
* 7 ’ - . .
e u,a‘.g)\ szi g:,.A.)L:u ‘I will go to Riyadh tomorrow.’
z = w °oF |
. AR Al S T il et . ,
Jde ‘-/J’&\'UM 651 Y o ‘Twill not go to Riyadh tomorrow.
Note that when :jj is used the particle of futurily (—.v) is omitted.
o % o - - °~/ “, - 00/ ° 1 . .
As with Ol the niin is omitted from ‘:pﬂj”v\-’ ¢ jib.b ,and O j;.bu\g when uj is used with these
forms. The two forms :;.:b.)é and ;,:J/A.L/? remain unchanged e.g.:
o - Rt 2 . . [ PR £ ,1 —
¢ i) dbe sl JI a1l
‘O Aminah, will you not go to Taif during the summer holidays?’

¢ Joinl il o B Bl 256 SIS

‘O sisters, will you not study Turkish next year?’

2) Al S gl S Twill never drink wine.”

The word |.\s| is used to emphasize a negative verb in the future,
Here are some more examples:
z /’: - 40 7 0 ) ) ]
) Qi S ‘I will never write to him.’
'//,E }zo/ av %o - ’//}&.
Ju Leaal B e Lale 2z O)
“Your language is very difficult. I will never study it.’

To emphasize a negative verb in the past 128 is used, e.g.:
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sorry

embassy

Indian

wine

available

tired

silk

future

beginning
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‘I never saw him.” (see Lesson 29).
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year

world

to put on, to dress

(i-a)

to have patience

(a-i)

to give up (a-u)

to perform wmrah

anyone

umrah, visiting
the Ka’bah

the hereafter




LESSON 20

LESSON 20

In this lesson we learn the following:

1) The dual in the mansiih and majriir cases.
We have learnt in Book 1 the dual in the /marfii* case e.g.:

. Q\};s LS} ‘I have two brothers.’

. % i . .
. 9\5}:5 g\.:.e & LEE; & ‘There are two large rooms in my house.’

We have learnt that the normal mar/ii* ending is “-11°, the mansiib ending is ‘-a°, and the majriir
ending is ‘-1’ e.g.:

¥ L ) .
¢ ) ir" )-X-i-s\ &g\ ‘Where is the teacher?”  (al-mudarris-u)
¥ 2 i .

L v’)v\m\ I ‘T asked the teacher.’ (al-mudarris-a)

w o o
27 8 A . ;
. J;).,\.Q.Lé 8 “I'said to the teacher.’ (al-mudarris-1)

But the dual has different case endings.
The marfii* endmg in the dual is -i(ni), and the mansiib and majrir ending is -ai(ni), e.g.:

-

. Q.\))\.U Q\M ‘These are two riyals.’ (riyal-ani)
5 / s 2
. JJ\.:) J‘U\ ‘I want two riyals.’ (riyal-aini)

: JJQJ_: iis}i&j ‘I bought it for two riyals.”  (riyal-aini)

Here are some more examples:

J.;Lf :Q\J,; ‘I read two books.’
ufé}? A% :,;5-3 ‘I returned after two days.’
o\.b.\:- u\..,u e ;\.5- ‘Two new teachers came.’

u...&b\ o J,oJ\ i W ‘I heard this news from two radio stations.’

2) ... ";;;f}}'sﬁ ..o~ ‘one of them ... and the other...’, e.g.:
) e - 2 > £ . - £
&Mﬂ }V\j b Laads) 014 é
‘I have two brothers: one of them is a doctor and the other is an engineer.’
The feminine is ... ¢ :;\JH sz\‘\\\ e.g.:
2
~ ° ; - 1?. W _ -] . L0
HACC RPN TR L (N EE T

‘T have two sisters: one of them is a teacher and the other is a nurse.’
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LESSON 20

hypocrite (lit. two-

faced) (\'2‘}2 C) 5\;"3

L
VL‘.U

halld

comb

Ol )

a pound (monetary unit)

The biography of the . . .
w
Prophet 2 (U’p 5”43 C) ua_/s

commentary of the
Qur’an

.’5// B

-
£

5 e

e y
P < -
&

to slaughter (a-a)
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useful

button

thief

pillow

to explain (a-a)



LESSON 21

In this lesson we learn the following:

1) The use of Q,.J It is a negative particle. It is used with the muddri‘. It brings about two changes:

a) it turns the muddri* into mddi in meaning, and
b) changes the mudari* from marfii' to majziim, e.g.:

;.,J:v\g ‘He goes’ —> MJAJ\; V'S ‘He did not go.’

The endings of the mudari* majziim:
a) The ¢/anmalr of the third radical is omitied in four forms:

gi,.fb.i; — :,jug ;.J ya-dhhab-u — lam ya-dhhab
ﬁ,jh.l./? — C,jbu\./? ;,J ta-dhhab-u —> lam ta-dhhab
0% 0% -
Sl —> VY (,J "a-dhhab-u —> lam a-dhhab
d,jh.b/ — C,.fb.,\: ;,.5 na-dhhab-ti e lam na-dhhab
b) As in the mudari* mansiib, the niin is omitted from the following forms in the mudari* majziim:

L/J’?“:h“)‘; — LS.J/AV\:? (U ta-dhhab-ina — lam ta-dhhab-i

Z)jf.:b.ﬁ — \j::h.ﬁ ;,J ta-dhhab-iina — fam ta-dhhab-ii

g jf]bu\.j — 3 j:‘;.x; ;,.5 ya-dhhab-tiina ~ —> lam ya-dhhab-ii

° o
L 07 . 07 7 .
c) The two forms -paJ5 and - A5 remain unchanged:

o ° _
- I _o- *_. o
M-’% > Cﬁ.‘b-—\.g (.J lam ya-dhhab-na
o ° _
07 T L o” 7 o
R — B VJ lam ta-dhhab-na

o e
Here are some examples of (,.5:

O )J.S\ \M (J ‘T did not understand this lesson.’
2 43 P
g .L;J\ uBU:.S\ },b\ ‘Did the new students attend?’
5 ;.5 Y “No, they did not attend.’

w\ ‘.55\ . A VJ uUUaJ\ “The female students did not go to the library.’

If g_,.h.b ¢ g_,.ﬁsvb ¢ ;,JAJ\ ¢ g_,.b..b are followed by the /iamzar al-wasl the last letter takes a kasrah
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LLESSON 21
to avoid w:/f\.iJ\ i\.&.ﬁj/\, e.g.
¢ ;“\.SL&:/,‘.S\ ;,ég./? ;,.S\ ‘Did you not write the letter?’ (a lam taktub-i-rrisalah?)

— 4K

) J,o.s\ Z\SJLH\ hvu (,.S ‘The female student did not memorize the Qur’an.’

2) UJ: Itisalso a negative particle, and is used with the mudari .
It acts exactly like ;,.5 . It means ‘not yet’, e.g.:
"}g_aﬂ u}&\ Lo-s ‘I have not yet taken coffee.’
- 2 < o . a - 114 A j/ _ . .
! r~,£:=_> j_b Q3 ulg‘y\ J.>J\3 \-oj 9« “And Faith has not yet entered into your

hearts.’
- e A T
. &>—j§ L‘;Jj (S LSSE LS-" Ca3> My father went to Makkah, and has not yet returned.’

After &J the verb can be omitted, e.g.:

A
g

——‘Yl\

¢ ‘Have the students gone out?’

('s.

-

®©

‘Not yet.’, i.e \ gt \.‘J ‘They have not yet gone out.’

3) Parts of speech: in Arabic, there are only three parts of speech:
a) nouns (;;.LY\), like:;}:é Jdda (Ul ¢ oD c;./l; (ks
b) verbs (:);./i”), like: u“‘»J cg,..f\ cg,Mgg cwf

¢) particle (:);;J\), like: c;’j c;.’/uf cy ¢ Lo

i o, ’f./o ’:/ ° w|©
4) Nominal and verbal sentences (3.;}.*5.5\ A.L;.;.Jb 4:.,3.‘»3“ MJ\):

This has been explained in Lesson 1.

5)/}\.%.} means ‘slowly please, don’t hurry.’

6) . :)\.:/f Vﬁ ;.LB Sls % ‘I have neither pen nor book.’
Here are some more examples:

- 7 - w &W . ~ . . o . . .
33.,4.0 y) AN 59.-3&&5\ 69 s “There is neither water nor juice in the fridge.

ffu}:& j 3 J LS"‘"" u} s “There is neither riyal nor girsh in my pocket.’

61



z o

[~} ;0 \

e

=z ° %‘ /5{

ELRE
R 2o

reception

slowly please,
don’t hurry

take rest!,
relax!

to come (a-i)

forbidden

z
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[LESSON 22

LESSON 22

This is a revision lesson.

It gives a complete picture of the three moods of the mudari‘: the marfii‘, the mansiib and the majziim.
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LESSON 23

In this lesson we learn the following:

1) The i‘rab (declension) of the sound masculine plural.
We have learnt the sound masculine plural in Book 1, e.g.:

I L LV R PPE P
Oj;-y\& CO}.&)V\; cd}i»,\.;.@_; cdji:tw’:

In the marfii* case it has -ii(na) ending, and in the mansiih and majriir it has -itna) ending, e.g.:
- W P . , .
Marfii': . j;fu J.,\.i.“ T The teachers went out,” (al-mudarris-tina)
. ¢ s s 7 .
Mansiib: . e )J..«J\ el 5 ‘I saw the teachers.’ (al-mudarris-ina)

- ¢ T e .
Majriir: . - ppur JJ«J\ ujl 23 ‘I went to the teachers.”  (al-mudarris-ina)
Note that the sound masculine plural has the same ending for the mansiih and the majriir.
Here are some more examples:

. v.gﬂj"\g} L;i Osdligall SB35 “The engineers went to their offices.’

2 @ £
. L)j.a.;J\ L;.e S]] é"ib ‘I saw the farmers in the fields.’

‘These are the houses of the teachers.’

P 2 .
Cpyed) S ol

2) The numbers O sgeowd ... Q8 bkt
o

These numbers are called the "7/ (_, 9,&';}\) .

They have the form of the sound masculine plural, and so their 7 ‘7b is like that of the sound masculine

plural, e.g.:
Marfii*: . \...ma <) jaj.«i»-f ‘},4:5.5\ L59 ‘There are 20 students in the class.’
) ; ¥
Mansiib: . b\:f s Q\}E ‘I read 20 books.’

Majriir: . Y\.“: ) e if;;:..&j ‘I bought it for 20 riyals.’

3) We have learnt the numbers 2 1-30 with the masculine ma ‘diid.
Now we learn the same numbers with the teminine ma diid:
Note the following:
R
a) 2 1: the first part of the number with the masculine ma ‘diid is Ag—\j and with the feminine is

SAI:

A,JUJ L)j}i 2 1&-*\3"\ UUQ Z)jj‘:"?j 1’.\3
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[LLESSON 23

b) 22: the first part of the number with the masculine ma ‘diid is g/)\:ﬁi and with the feminine is

]

Ol

i\.JUﬁ :Jj},w S 9 gi::/i /U\.E :);’,M 2 g\.:;/\

c) 23-29 the first part of these numbers with the masculine ma ‘diid is feminine, and with the
feminine ma ‘dﬁd itis masculine

15‘/ <

d) The uqud have the same form with the masculine as well as the feminine ma ‘diid.

4) Note this:
50 7 8. 2 %52F .
c,.a . ‘}}j c,.lfi N ‘I neither ate nor drank .’

g_,..f ‘}} j B! ‘He neither read nor wrote.’

To convey the idea of ‘neither ... nor’, the negative particle Y is used with the mddi instead of L.

2
5) Note: . i_‘,lé\.f: ru?\é Ua}iji al-Muwatta’ by Imam Malik
1.0 or TR . .
o) j.lz.f» U’Y <R ol Lisan al-Arab by ibn Manzar.

In such examples_i is used to refer to the author of the book and is translated by the word ‘by’.

-0 . to pass an
i"“:‘}j meeting \’.\'}‘J C""" c}u examination (a-a)
" B P ¢ i.: 22 5 g0 L to fail an
(QM C) 422 story ) e w) examination (a-u)
A~ ?z s g7 8 ; ’ﬁ/ ° ‘ .
(9\-3&\ C) :’5.,.: prophet (j:'“'\ C) GJ'“'“‘ family
28 -

second (unit of

s @ o PR
dc\d hall (%5/:\}’-’)\ Cgijj C) ‘\ﬁfb time)

G o) s e
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LESSON 24

LESSON 24

This lesson deals with numbers.

All the rules about the numbers mentioned before have been put together here.
We summarize these rules under the following headings:
1) The rules regardmg the numbers:

a) L -\:»‘ 9: These agree with the ma ‘diid, and follow the ma diid as adjectives, e.g.:
BT oLls ety s
oW ol (Buslg 55Es
b) ;,Mﬁ i :u’\/b These numbers do not agree with the i« ‘diid. If the ma ‘diid is masculine, these

are feminine, and vice versa, €.g.:
sl S5 Jle, D6
9) Ms LJ\ / hE ,.sz: Both parts agree with the ma ‘diid, e.g.:
uug L;.b-\ cuua ey A
BeiieE s d

d) ,is de.i .. ie &0 The second part agrees with the ma ‘diid, and the first part does

not, e.g.:

Ot

Z.:J\.b ,w.c NG cUUa e BN
e) Call ¢ d‘b oy r,\%;,fv;, o al» These numbers do not change for gender, e.g.:

5'/4\')’/“;"5\1& %Lf cz,q.l../,.,ﬁ/ﬁ\:/l 4 b 207

i
/

f) Ol | Olls s When the ma ‘diid is mentioned the niin is omitted e.g.:
- N /.of ;
V5 Gl 1L

2) the rules regarding the m diid:
a) the ma ‘diid of 3-10 is majriir plural, e.g.:
Mo Lz e
S S

z

b) the ma ‘diid of 11-99 is mansiib singular, e.g.:

| A . . . . : . o
" The alifin & Lg is not pronounced. It is also written without this a/if 4%a.
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c) the ma ‘diid of 100 and 1000 is majrir singular, e.g.:

Ju, 4l

z -

3) the i ‘rab of the numbers:

/? s - . .
a) O / A>19: These are used as adjectives, e.g.:

8 o -
Aty Jy s o1 oV, sis
z z 2 2 0= o1 2 2
U.>-b ‘y\i) Ju,f)\ Lf;ﬁ‘ wj\i) v\i)‘

Aty Jyy Ml s o oy A 1
R v
b)éie ... 455N5: These are regularly declined, e.g.:

7 ’i/ o - o
C)V\g ) Al (Slis (khamsat-u)

£

( = o - 4

CJYLJ dla J‘:’J‘ (khamsat-a)
C)V\g) 5\.&\2.;u (U.EJ\ |da (khamsat-i)

c) }/;.\3« dxd ... };}— 25-|: These numbers are mabni (indeclinable). They remain unchanged

except the words \.:Sj and \3:5} e.g.:

y\:’g }-"w; Loas- (S Lie (khamsata ‘ashara)
A - - - 2 é
y‘-ﬁ; }-"“-“ Al J:’g‘ (khamsata ‘ashara)

Y\:’) :,:z_/c m (U.EM RV (khamsata ‘ashara)
Only the words \:JJ and \ZJl in;.:iﬁ \:5/\ and g/,w.o“ s \.E:;j are declined like the dual. The words /,,,“.9/“ ¢

- ° _ .
and 8’ & remain unchanged, e.g:

Vi, See G e (ithnd) &gy 8588 L) sdie (ithnata)
Z 0o s % z s 3

P “2% . . i }:/o./ //:" 5 . .
V\.@ s L‘}.u\ .LQS (ithnai) Ay 84 :;w\ J‘Q‘ (ithnatai)

Vi a8 o830 A e Githnai) &) G7ae L AN s (ithnatai)

d) The ‘uqgiid (:) jii,.i G Jj,éu.g) are declined like the sound masculine plural, e.g.:
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¢ Y\U dj...w ;S T (sitt-iina)
V\.:J JM .bj (sitt-ina)
N, Gty SLSU 135 (sitt-ina)
e) kmaﬂ / fu\ »: These are declined regularly, e.g.:
)ng :,aj i:::/} “His salary is $1000.’ (alf-u)
i )‘9 93 J\ 5)3} I took $1000 from him.”  (alf-1)
‘>! 43 udb s I purchased it for $1000.”  (alf-i)
f) L2l | L5ls: These are dual, and are declined as such, e.g.:
. ‘_)\.3 3 \.:23? ﬁ:.;j ‘His wages are 2000 riyals.’ (alf-2)
. J\.s) L&‘;'ﬁ fbj: le  “‘He does not want 2000 riyals.” (alf-ai)
. ‘)L“’Q 645\.1 =, “He works for 2000 riyals.’ (alf-ui)
g) Hloals ... & L}.._ "\ In these numbers the word 55 Le is majriir because it is muddf ilavhi. In

these numbers the muddaf is joined to the mudaf ilavhi in writing. The mudaf

required in the sentence, e.g.:
. Jb y »
£

- 2
Jby B L)

z

z

s sdus

& LT 2 Pre
J\z’g ﬂﬂy}&:i i";f"”l

takes the case

(thalath-u mi’at- 1)

(thalath-a mi"at-1)

(thalath-1 mi’at-1)

Note that &5 Lej LeJ is originally 43Le5 i3 . The v " has been omitted. So the J) in this word remains

unchanged.

4) The word _4)
AT s
by ST &

L)\:’.j C)J‘ /r«m.c"'/ aﬁwv
E - ,4 ~

.gg)%ﬂiau

may be a number and a m ‘diid/ at the same time, e.g.:
‘three thousand riyals’
‘sixteen thousand riyals’
‘thirty thousand riyals’

‘one hundred thousand riyals’
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In these examples the word all (or JVT) is ma ‘diid with regard to the previous number, and it is a

number with regards to the following word.

5) If the number is muuddf, it has no tanwin when the ma ‘diid is mentioned, and has fanwin when the
ma ‘diid is omitted, e.g.:

?5:\-‘8 y\i);g
7 A /// L. o
.Q\HU 8 e (S or LETae (Shs

¢ A.C«u\ ol &g \ V.g; ‘For how much did you buy this watch?’
Q\QJ\J or @‘b;;aj\i
2 2 o
¢ J:: Y\g 3 VS ‘How many riyals do you want?’

6) Reading the number: While reading the number it is better to start with the units, and then go to tens,
and then to hundreds, and then to thousands e.g.:

6543

AN s
if the ma 'diid is masculine: J\z’) L/)Y-‘/ At 9 LW} dj:u)\j &5

\\e.é\

@ . ]
if the ma ‘diid is feminine: f\_f_:)j g/)W Al g 4 LAW} dj:uj\) u}’b
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LESSON 25

In this lesson we learn the following:

1) OS5 ¢ We were introduced to u\f in Lesson 7. We learn more about it here.

u\f is used in a nomimal sentence. After its introduction, the mubitada is called isnnt kana and the

khabar is called khabaru kana. The khabaru kdana is mansiib, e.g.:

2 z B "
khabar mubtada’ khabary kina ismt kana
Here are some more examples:
v‘ “o “o~ e -
e 32 vy — 4«4.3 L esls

e 351 — Sex 0K

If the k/iabar is a prepositional phrase, it remains without any change, e.g.:

il g iaedl L el s ol

. N . . . : S § : i Ve
2) . J\ w3 : It means ‘he is still’. It is one of the “sisters of kiina’ and acts exactly like IS, eg.:

Ry <

Ly g I ‘Bilal is sick.’
— Lm FR J Y ‘Bilal is still sick.’

. ’:@Ua fé}f’ ‘Maryam is a student.’
— . ZJ/Uﬁ o J\}: ‘Maryam is still a student.’

%70 2 . ° 1o C 1
. M\ L;e (,.&J:\ J.;l Ibrahtm is in the hospital.
— L aaaA s aeal 3 I Y Tbrahi is stll in the hospital.’

3) The i rdb of ! and > ‘\

-

We have learnt in Book 1 that when these two words are mudf, they take a waw, e.g.:
Wi - Z 4% .
Sj_-,'.\ cisj;\ c.;bgb- j""‘ cd% jj

This waw is the marfii* ending. In the mansiih case the waw changes to «/if and in the majriir case to
va',e.g.:

£
(e

R

g

Marfii: — § & jf ‘Where is your father?’ (abii-ka)
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o

Mansiib Nale

—n\

Majrir:

25
Here is an example of j>\

Marfii *:

Mansiib: s é,.;\;\

¢ sl J) Eo

Majriir:

?t@?x g_,.;n;u;

AR

i

‘I know your father.’

‘What did you tell your father?’

‘Where did her brother go?’
‘Did you see her brother?’

‘Did you go to her brother?’

4) :}j‘; :J,g : We know that Jfé and :X;S are always mudaf, e.g.:

/o/ }0///

S T

oY1 5 doeuddl ) RS

(aba-ka)

(abi-ka)

(akhti-ha)
(akha-ha)

(akhi-ha)

‘I went to the mosque before the acd/hdn, and returned after the salar.’

If the mudaf ilayhi is omitted, 3,3 and J..;S become mabni, and they always have dammah, at the end,

c.g..

J.aJw OY\ LSJ‘

‘My father is now a headmaster, and before that he was a teacher.’

In this sentence J.& oy 1s for d).! b J'ﬁ .2 ‘before that’, i.e. before being a headmaster. But

the mudaf ilavhi $)J3 has been omitted.

. 7o
Here is an example of J=J:

Jax5 - M\ L55\ w:\.wj cw\ u)\ 3V g_,-ﬁﬁb\

‘I am now going to the library, and shall go to the mosque after that.’

A o, o . o, o . °o. o© F
Here A=y -ps is for oy -pe Or SU3 J=y e “afterit’ or “after that’.

) Plural of "2 2 is . This plural is <372l s & 45 and so has no anwin.

Here are some more examples:

J,.& a killed person, pl. dt;

28 - -
<0 wounded, pl.u:- S

T

"y prisoner, pl. Ty

zg.;.;\ stupid, pl. 6;11.5-
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ambassador

policeman

dean of a faculty,
principal of a college

to leave (a-u)
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inspector

retired

to write a book

all parts of the
world



LESSON 26

In this lesson we learn the following:
1) We have learnt that most Arabic verbs have only three letters which are called radicals. The first

radical is called 2, the second is called z, and the third is called J These names are taken from
the verb :}2./9 which has been taken as an example for all the verbs.

If one of the three radicals is 9 or (&, the verb is called al-mu ‘tall (i};‘;ﬁ\) i.e. weak.

If the first radical is 4 or (¢, the verb is called al-mu ‘tall al-fa’ (L) Siiij\), i.e. weak of fa". It is
also called mithal () zsJ1).

If the second radical is 9 or (&, the verb is called a/-mu ‘tall al-"ayn (CJ:-';‘M 33;,15\), i.e. weak of “ayn.
It is also called ajwaf (C3 3";&“).

If the third radical is  or (S, the verb is called al-mu rall al-ldm (p&m i\é&ij\), i.e. weak of [am. It
is also called ndgis (:,p.'/é@\).

If two radicals are weak, the verb is called /qﬁf(:,é.:.é.ﬁ\).

In this lesson we learn the mithal verbs. We have examples only of verbs having 4 as the first radical,
e.g.
C,a./;j he stopped

7 -
.

Ojs  heweighed

>3 he placed
&2 p

There is an abnormality in the mudari ' of the mithdl verb.
The first radical () is lost in the mudari‘,e.g.:
}. - WL . . . o . }. o . . °
Ox Ojs (yazin-u) which is originally Ojes (va-wzin-u) — like :js«.;.?bl — and after the

A
omission of the waw it becomes O 3 (ya-zin-u).

In the same way:

g

PR I PRy
A2y Ay for Cad g
e 2 - 4 o
d-y o for J>g
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2 °
The amrfor 0% is O ‘weigh!’.

LESSON 26

for &;}; (it is a-a group)

No hamzat al-wasl 1s needed at the beginning as the verb does not commence with a sakin letter.

The amr of aiz5 is ae> ‘place!’
e amro C@ 1sc,4 place’ .

" ] (5 N . . . 1‘//
2) ,_LZJ s is the diminutive of 9.
The diminutive form is used to indicate smaller size or for endearment. It has the pattern .=, e.g.:

w® - Y- A
R flower J,Jb)
s 07 . 8O /’f
grx river "
L L o A
L slave e
LY B ®o, . A
e Hasan Oy

3)15 oa la ‘Hereitis!’.

This expression is used when a person or a thing you have been looking for suddenly appears.

2 la

The feminine form is (<>

e

‘Here Iam!” is |.ula .

2 . g P R 7 g e, .
4) == is the mudari' of =>-9. So = literally means ‘it is necessary’

/Oﬁ

LA e O e Lo

Here the phrase , V..@.m OV is the fi il of & wu

Here are some more examples.
z . © r

. - LI o~ 2 -

[~]

B P ) sl 3 PERUES

Pl

The negative particle is used with the second verb, e.g. :
LI -~ /ﬁo.z i °.£ o]~ 2 P

But C>; Y means ‘need not’, e.g.:
O& . & 0 - 0'2 #ay 3 1
ol e s of BWle S Y
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, ‘it should be’, e.g.:

‘We should understand the Qur’an.’

“You must return tomorrow.’

‘I must go to Riyadh today.’

‘He should not leave the class.’

‘We need not attend this lesson .’



LESSON 26

A 2 2
5) We have learnt one of the patterns of the masdar. It is U j;a like é jf j czj )3.3 ¢ & jj; 43 j.;ai .

Now we learn two more patterns.

TP TN . n & ey
One is J\.a.% like Cs\a 3 ‘going’ from a2, and &‘9:.: ‘success’ from o

8 (- . 2 A T . LT
The word u\.gl means ‘return’. It is from < 9 5 <\ (a-u) “to return’. Tt is on the pattern of JL&}

Another example of this pattern is > L{, ‘marriage’ from 2 S =S5 a-1) ‘to marry’.
p p = g N Yy

Bt : oo X st s ok
6) Jﬁ\ is the comparative of :}ﬁl.e . It is originally Jls‘ like j.tf\ ¢ :}A}.S etc. But as the second and the

third radicals are identical, the third radical has been assimilated to the second.

z z - w 8 »

stranger b :\J LL& §;.§Ua.” 3}5.«\5
Z © -

purse \.x.l; tLJ} o: /Cl;

money, cash

. A 8 ] - e
ticket b)"} o
) P

severe J}J J,;;-j
kilogram ‘}1),.;3 :},,4_2 J‘/pj
Z . 2 o ] Yy

female 4 j g\;) 9 ) R Q)
zZ - z °o 2 PEEA
male ol c\.k&j Ay J&)
TLohs s .
regularly 15 ).9 9 AR L 9
. 1& -~
mistake (>

2 2 -
return \"'}SJ CL; > j

Z <]

. P A
e elanlad
i i o - o
he wills Loy Cg Ca

return air ticket

to swallow (i-a)

to ascend (a-u)

to be necessary

(a-i)

to find (a-1)

to arrive (a-i)

to weigh (a-i)

to promise (a-1)

to stop, to stand

(a-i)

dear

to enter (a-i)

to place (a-a)

to grant (a-a)
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LESSON 27

In this lesson we learn the following:

1) The al-mu ‘tall al-"avn or ajwaf verbs: as we have seen earlier, these verbs have s or (¢ as the second

radical, e.g.:

3\

}.///./ ﬂ//// . - PR }/// }’1//
Al Ol cr\.g (\5 G S0 ‘}@"f &\.: cjﬂg 35 chA.g J
These verbs have undergone certain changes as explained below:

a
\

atr N e - LIS
&\ 15 is originally J 39 and prapt originally J}Aﬁ .
{ 5 P P q . L. 2 o -
Lo is originally 2 and .o is originally e .
#Li s originally % j: and \,:;\;Q; is originally %};

These verbs undergo some more changes at the time of their isndcd to mutaharrik pronouns.'!

These changes are as follows:
In the mdadr:
a) if the verb is of a-u group, the (irst radical takes dammal at the time of its isndd to mutaharrik
pronouns, e.g.:

24 Ky

? s §4 & 5% i o - 34
be c»;‘,Jd cuwlﬁ ccalﬁ (.v.kb ccﬁb ¢

o T e e
as against the original fa//ic/i in < JB ¢ \jjb cdb (gila, gqali, galat, but qulna, qulta, qultum

og

i

o

etc.).

If the verb is of a-i or i-a groups, the firsi radical takes kasral, e.g.:
) Ao w ﬁo ) o ft,o ) T
S R0 L ) S e
(sara but sirna etc.)

o, 2 o % Ko, o, o Ao | - ) .0,
L,u (e ‘J"‘” ¢y c('.‘.w A ¢

(nama for nawima, but nimna etc.).
b) The second radical is omitted as can be seen in the above examples.
In the muddari
In the muddri marfit "

The second radical is omitted at the time of its is/dd to the mutaharrik pronouns:
o4 ° 8

| el - ws
. .
¢ 2

2 2 -
YA mutaharrik pronoun is a pronoun that is followed by a vowel like < < < O and a sakin pronoun is vowelless like
th63 in \3:&55 . All the pronouns in the i are nutaharrik except those in Ca3 and | }f;}bi . In the mudari* only the O is

°
mutaharrik, as it is in :Jifbu\.j and ;;.]wﬁ
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-
° -

0;»\:«3 ¢ OJ-A:%:{
* " ‘ * '“’
In the mudari* majziim:
The second radical is omitted in the following four forms in addition to the two mentioned under
the mudari* marfii

o~ o o . o} o h ot 8%
He e P il
o A~

B e B el
ARSI N

o~ o7 TR N S T4
S BB
This omission is due to u;:/fw\ iL&.:J\ .

:}ji; ;.j is originally 3}3.} ;J/ . Here both the waw and the /am are sakin (vowelless). So the
weak letter waw is omitted.

};.u: ;,j is originally;;..:“.j }j Here both the va " and the ra are sdkin. So the weak letter ya " is
omitted.

;,.:.:: ;J is originally %o\.:;: ;,j Here both the «/if" and the miim are sakin. So the weak letter a/if is

omitted.
In the amr
a) The second radical is omitted at the time of the isndd of the verb to the mutaharrik pronouns:

T

- 2 °
O Spw e o

_ o~ - 87 I

ST N P
b) There is no need to add samzat al-wasl at the beginning of the amr as it does not commence
with a sakin.

s A o) o% .- ... oy o .
From J j.EJ we get J | ¢ after omitting the initial 7 and the final dammah, and J 99 is changed

° ‘: o~ I -
to J.» because ofu.c.:/fu\ AV
From j’»"‘f": we get s which is changed to Ju.

From %\3 we get %\: which is changed to ;,.:
2). \ :Dv\f J.d 4.U ‘By Allah, I almost died.’
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After qasam (oath) the affirmative mddi should be emphasized with i\.‘zj
The negative mdcdi needs no empha51s Here are some more examples:
RERATRIFS< (T
‘By All%lh! I saw him in the market.’ .
oW e S S A e Eaen A Al

‘By Allah! I heard this news from many people.’
But:

e SXT G g.,U\j ‘By Allah! I did not eat anything.’

da é,f:{ s i\.Ub ‘By Allah! I did not write this.’

a

A T L8 : S
Note the 1w in Ul 4 is a preposition ( > 2 > ) and so the following noun is majriir.

3). 95,293 azils ] thought it to be my notebook.’

The verb - > takes iwo objects and both are in the mansiib case, e.g.:
PR . i - @ 31.%
J.,«.?- ﬁJ\ ‘The weather is fine.’ —> Mo ﬁJ\ CJ'H

371 %

Z;]:& W “The door is closed.” — >l U u.ia\

& 2 o 4z

R O\.;;}a‘}[\ ‘The examination is far.” —> \M QWY\ u.b\
_ Z Z - 2z

C;.fb &l “You are good.’ — Lf.la é)ﬁb\
s g 8
We can also say: J.\.o;- st —. },ww e,"‘t \,J"\ :J.b

4) .:lis oo~ ° =) “Sit where you wish.’

5) Note that in 5%5,&:75 the hamzah is written after the v ', because both the va’

and the hamzah are

. 2 ° T . . - .
pronounced. But in = VJ the hamzah is written above the va'. Here only the hamzah is
L S— =

pronounced, and the yd " is only a chair for the iamzah.

6) . sl Zlai alll #is “May Allah grant you complete health.”

RPN . .. :
S Y ‘It is not proper’, ‘it is not becoming’, e.g.:

7).

o % w o -
. g;.:::/t; ol ;,./SM LS’/‘:"i Y ‘It is not proper for a student to be absent.’
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A o s

da Jj_n.: 8) J LS""" V ‘It is not becoming of you to say this.’

8) the verb o\ comes in two groups (ub)

5 2 P PP 2o 7 . . -
a) i-a group: g o like (Lg CU. With a mutaharrik pronoun the first radical has kasrah in the

3

2
-0 > . .
madr: L:,g <. Inthe Quran (s occurs nine times.

N P A R [ SRR Tr A .
b) a-u group: < j.i.g s like J 9 J\.e. With a mutaharrik pronoun the first radical has dammah

. o 708 & 4 , & 4 :
in the madr: Gzs . Inthe Qurian s occurs twice.

. - i A .
But in the mudari” only & sog occurs in the Qur’an.

!o&H\ A, - -2
Q 2”0 a
e *»*

LA |
tU.,a
2R o/.
Ca,ﬁj

@M o) b
Sl

Y5 8% 06

midnight
= - 2 A P

headache U ; J j.ig 5Ly
oil 538 Loz ol
z ) o 1
grocer \.ﬁ\.:% Cv.d.g r\&
=z /' z O/ ﬁ“ }. < 5 e
complete W chJ d).l; ‘_j\.b
z 4 s, A p . /
salt b\jb &Jj-h{ s
lentil \J.M g Sl
steam \.&;}— :Jim”*; &\;
busy LS ;s U
s c."/‘r’. :

a piece of cheese

5
j"\.;\.;& c;f J\.>u Cals

cgg

79

to say, to tell (a-u)

to be (a-u)

to visit (a-u)

to get up (a-u)

to taste (a-u)

to go round (a-u)

to walk (a-1)

to live (a-1)

to sell (a-1)

to sleep (i-a)

to fear, to be
afraid of (i-a)



fruit seller

flour

forest

lunch

to be about to
do (i-a)

" AR PR Ty

Yo Jeb JU
Lomr & 2 el

[+] » f P 4
Aoy JIp Y

£ 'o - -
LS LASS ods
L 2% -1

train \.AL..,@ (.143.»:0 é}:@{ (;L:o

to cease to do (i-a)

e
"%,
o’

A

80
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to urinate (a-u)

to come (a-i)

he is still
studying

to tell a lie

(a-i)

to overcome (a-1)

to fast (a-u)

to turn (a-u)

to repent (a-u)

to measure (a-i)
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In this lesson we learn the following:

1) The nagis verbs: these are verbs which have 9 or (¢ as the third radical, e.g.:

s ° - - o = - ~ °_ /,
SRS (S SN (A
These verbs undergo the following changes:
In the madr:

* Both the waw and the ya " become ¢/i/ in pronunciation. In writing ¢ is written a/if while (¢ is
written (¢ e.g.:

&> ‘heinvited’, ‘he prayed’ is originally}as.

u’<§ ‘he cried’, ‘he wept’ is originally C$'<5

The (¢ remains unchanged if the second radical has kasrah, e.g.:

(s~ ‘he forgot’

Cs&.} ‘he remained’

* The third radical is omitted if the verb has isndd to the pronoun of the third person masculine
plural, e.g.:

\}2—3 ‘they invited’ is originally | j}é«s .

\;ﬁ; ‘they wept’ is originally | jég.? .
| j.i; ‘they forgot’ is originally | j;,»/«;

Note that in | j.f;; the second radical has dammah which has been changed from kasrah, because

in Arabic a kasrah cannot be followed by waw.
* The third radical is also omitted if the verb has isndd to the third person feminine singular

because of‘;,.:;f\.‘w3 2l eg:
o : - . . ° P
s> ‘sheinvited’® for eoled.

:“.,_<§ ‘she wept’ for C)\gf
The (¢ is not omitted if the second radical has kasrah, e.g.:
i ‘she forgot’.
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iy ‘she remained’.
* The third radical is restored to its original form with the muitaharrik pronouns, e.g.:

0383 “they (fem.) invited”
< ¢e> ‘youinvited’
Ceed invited’

G353  “we invited’

B 50 S e S e G

In the mudari
The mudari* marfii *:
* The dammah of the third radical is lost in:

Pas

20~ }09 P 20

LRI j_c«.s\ ¢ j.c.b YRy
s£35 s originally j;,\; like d,,ii; and
S isoriginally A5G ke feda

* The third radical is lost before the pronoun of the third person masculine plural, e.g.:

Oj.cv\; ‘they (masc.) invite’ is originally Ojjful:g like dj-«gg .
Note that O j.ﬂcu\.j 3\.;55\ and O ;C«J.g 2! both have the same form. That is because in
Z)j.‘c.)..j :j\é-jj\ the verb Z)j}w\.g is changed from :)j}éu\;, but in Z)j.}&.l; 2Ll the verb
WAL .. . . . o 18 % 1
J ¢& is in the original form. There is no change in it. It is on the pattern of ul:u:.g like

o _ 2 -
% . The form O j_iig ‘they weep’ is originally O jé/gfq: . The third radical (¢ has been lost.

The kasrah of the second radical is changed to ¢/ammali because a kasrali is not followed by
Wwaw.

In O j;:g ‘they forget’ the second radical has /ar/ia/i because it is originally O jé.&:g . After the

. . -4 . . .0 ~ o
omission of the v "along with its vowel, the verb becomes O sty .

* The third radical is also omitted before the pronoun of the second person feminine singular,
e.g.:

ipgu\.: ‘you (fem.) invite’ is originally ‘:ﬁj_é—.ﬁ .

After the omission of the waw along with its vowel, the verb becomes &3.9.,\5 . The dammuah of
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the Z is changed to kasrah as the dammah is not followed by ya " in Arabic.

o woF

Note that &;/gﬁ <3| “you (fem. sing.) weep’ has the same form as ;;:-;:: :'J'"";‘ ‘you (fem. pl.)
weep’ i.e. the singular and the plural have the same form. That is because the verb in the singular

was originally ‘:,r:cg:} like ;.:,:»./l;é . After the omission of the third radical (¢ the verb became
&;ﬁ . The plural form of the verb is in its original form &L}.a:? .So :;:S:E in the plural is like

Cyed>5 and the (s is the third radical.

In ZJ;.C.:? ‘you (fem.) forget’ the second radical has fathah because the verb originally was

&L.Cm.j .After the omission of the ya "along with its vowel the verb became ;,.;.C.w: :

e
-

The mudari * mansiib:
The fathah of the third radical is pronounced in verbs ending in waw and ya’, but not in verbs
ending in al/if, e.g:

A ° - © 1 . . .
Fe" UJ ‘he will not invite’

C;;; :Jj ‘he will not weep’

But in Ls:”"‘i/ ZJ‘S ‘he will not forget’ the fathah is not pronounced.

The mudari* majziim:
Here the third radical is omitted, e.g.:

20 o . . . . .
&u\; v} ‘He did not invite’. Here the third radical 4 has been omitted.

g
-

W ;,.5 ‘He did not weep’. Here the third radical S has been omitted.

° -

s ;,.5 ‘He did not forget’. Here the «/if has been omitted.

In the amr:

Here also the third radical is omitted, e.g.:
8 ° - 2 of

),C—JJ —963\ ‘invite!’
ﬁ — é)jj ‘weep!’

-

o °
d *”

e C)“"’i ‘forget!’

2) Lg;; ‘he sees’. The mad is LSB . Note that the second radical (the /iamzah) has been omitted in the

mudari’. So LS}E is originally Lg\;g . This is a very frequently used verb and so it has undergone this

change.
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z

Lg;.’:’ ‘you see’ <)) Isee’ (5 ‘wesee’
In the nurclari* majziim the third radical is lost, e.g.:

pra 1 -
e ‘he did not see’

g (U ‘you did not see’

£ o8
The am of this verb is not used. The wordjl'al\ is used instead.

3) /\ﬁ means ‘show!”. It is amr. Here is its isndc:

LESSON 28

2 ° ;E £
d\?l\.}\))‘ Mkﬂg\
_ % z g R £
T PRV B TN P
6/3/\ ‘show me!’ \.32\ ‘show us!’ /2\ ‘show him!’

You will learn the micidi and the muddri* of this verb later :\.U‘ L Oi .

4) . dxs 0S| \;J ‘I have not vet ironed it.” .\=s denotes ‘yei” in a negative context.

Here are some more examples :

‘My father has not yet returned.’

2 o i o 2° £ °/ . s
RE Y Jle ) 4 ;,.:f | (,J ‘I have not yet written a letter to him.’

I

Sl day

" as right hand
Cpad 6

By

JLoo lefthand

taking, eating

god

z
.

"

people o

o

84

/i.;/f &5 ;i.’. sz/f to iron (a-1)

to walk (a-1)

L s s
[ PR
b soki s3b

Ldp sy Aa

to run (a-1)

to throw (a-1)

to fold (a-i)

to guide (a-1)
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night

dust

people

torn

present

people

investigation

garbage

to follow (i-a)

to come (a-i)

to build (a-i)
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o _ A o . < s
z 0 A2 -

z
2 o - », ©
~
con e & = &

to invite (a-u)

to complain

(a-u)

to recite (a-u)

to erase (a-u)

to forgive (a-u)

to forget (i-a)

to fear (i-a)

to remain (i-a)

to fall (a-a)

to cry, to weep

(a-)

to give water

(a-)




LESSON 29

LESSON 29

In this lesson we learn the following:

. ¢ . - 2 . : g . .
1) the muda*‘af verb (C_as2ad1) . In this verb the sccond and the third radicals are identical, eg.:

P

V..:;' CJ; ‘G’ .
The verb &C;- is originally é;c.;- . Here both the second and the third radicals are o~ .

Here are the changes that the muda ‘af” verbs undergo.
In the madr:
The second radical loses its vowel when the verb is isndded to the sdkin pronouns:
° g . g
NG ¢ g2 ¢ C>—
It retains its vowel when the verb is isndded to the mutaharrik pronouns:
0 . . @ Hro _ . P Lo . . io/ . ° . .
L>=>v- cwo& cu.‘m (.g.,ooo- cv.n>=>.=>- R T et
In the muddari
The mudari* marfii
The second radical loses its vowel when the verb is isndaded to the sdakin pronouns:

2 8 07

/°}°/

It retains its vowel in case of isndd to the mutaharrik pronouns: u.>=>=>u P

The mudari* majziim )
In the four forms é;u/ ;.j cwc;j (J cé%-:’ (J c%& ;'.j there is u.::/f\.fﬁ\ i\:&.}“
because both the second and the third radical have no vowel (lam ya-hujj). A; both are strong

letters none of them can be omitted. So the third radical takes a fathia/ to remove ’;LS:J\

ST
S LAY
-~

& 27 7 I
il @H S @S ey
There is no u;:f\id\ i\.&gﬂ in other forms, e.g.:
3 2. 7 . 2 27 0 .
\ﬁ;iq (J (lam ya-hujjii), LS’F;J (,) (lam tahujj7).

In the g

. .. d sz , . .
After removing the initial ‘ta’ and the final dammah from é>u (ta-hujju) we remain with wc;-

(hujj). The third radical takes fathah to remove u;:/f L2J) i&;ﬂ . So it becomes &; (hujja). As

the word does not commence with a sakin letter, no hamzah al-wasl is needed.
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LESSON 29
If the verb is of i-a group like ;.:“» and f‘jw? the kasrah of the second radical appears when the

°

S - L S % _ e
verb is isndded to the mutaharrik pronouns, €.g.: Cocaadv ¢ Caoiv etc. The mudari marfii* is

A P
(..w The amr is V.w . Note that the amr is identical with the maddi.

2) \.2.5: We have learnt ;.J and L in Lesson 21.
There we have seen that &>—j.§ \J means ‘he has not yet returned’.

. N
There is another Lo which means ‘when’, e.g.:

. /] I S Q»};J‘ ta o \%) “When I heard the bell, I entered the class.’

of?
- 2 o8 7

w P -
. L;/ai-/)u,@ <y S u)l &;355 s “When I went to Makkah, I visited my friend.’
This \&J is used only with the mdad7. With the mudari® \sdis is used, e.g.:

f v, . ° £ o - o.E - o
IV ZaG s st ) a3 L
‘When I go to the mosque, I sit in the first row.’

A4

z £ & - w o
3) 1! / L3 Both these words are used to emphasize a negative verb. L3 emphasizes in the past and

T

—n\

Y

.

in the future, e.g.:
{,‘) Z
% | .
Py g."J\ g.,,:\f\ VJ ‘I never wrote to him.’

z £ ©F 7 . ) )
) 5\.351 iy UJ ‘I will never write to him.’

A

The word Lo is mabni (indeclinable), and has only this ending.

z © 2 - z © 2 e
4) .1 Jg.wj Y “No thanks’. It is wrong to say | J_i.& Y without the 3 as it signifies a denial of thanks.

g L ¥ T RPN to perform hajj
(Jf\ C) g,a_{ palm \>;>- ﬁ é" (a_uir orm hajj

z z - A2 ~
T 82 3s. @ Wi, Sy @, ,
\ )9 o2 fP to pass (a-u) \.Ja U’E”' Jla to think (a-u)
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unmindful

» %
L

= Ly silk brocade
Q ®”
B s
d>c) \ B smell
. -
4 ; unpleasant
s W
CJ’J soft
ﬁi ) 2
M COpy
LAY )
y a while
%

drain sewer

better, best

( ) )ﬁ C) once
&f_b good

88

[

//,

d2 .

=T

lue A% J&

z

W

[ A ™
\—*""""3“7"“"’

\—@f Pt P

L,,awsa.:w

Zw w ‘6/
s A A

[y R 255

\.:J.:>- c\;)} dJ}u ‘)J}

w. b, 5.

z 5 @
\.:J\ Ly iy
2R
Ju

»
.
s

to drag, to pull
(a-u)

to count (a-u)
to abuse (a-u)
to fall sick (i-a)
to pour (a-u)

to block (a-u)
to smell (i-a)
to touch (i-a)

to push (a-a)

to be sorrowful

(i-a)

to reply (a-u)

more



LESSON 29
THE SEVENFOLD CLASSIFICATION OF THE VERB

1. Salim (;..f \.fvj\): A verb (a) which does not have /iamzah, waw or yi' as one of the radicals, and

(b) in which the second and the third radicals are not identical, e.g.:
g;ﬂ:.f ¢ J;-S c:lé;&
2. Mahmiiz (j j,i.é.ZJ\): A verb which has samzah as one of the radicals, e.g.:
3:{ | (with hamzah as the first radical).
I\ (with hamzah as the second radical).
1’8 (with siamzah as the third radical).

3. Muda‘af (_isi22)1): A verb in which the second and the third radicals are identical, e.g.:

- - -
&

e
4. Mithal (3\5;55\): A verb which has waw or ya ' as the first radical, e.g.:

T T e
This verb is also called %\_:'15\ i}li,ij\ .
5.4 /’wqf(:J};;\[\): A verb which has waw or ya " as the second radical, e.g.:
TR PRI
This verb is also called - 2! f};ﬁ\ .
6. Nagqis ( Qaéfd\): A verb which has waw or ya ' as the third radical, e.g.:
S SN K B
This verb is also called »5U1 ‘2411,
7. Lafif (:,é,:;ﬂ\): A verb which has waw or va ' as more than one radical. It is of two kinds:
a) Lafif Magqrin (i’) )}Z;ZJ\ :,é.,,;U\): It has waw or va " as the second and third radicals, e.g.:
655 55
b) Lafif Mafriiq (iﬁ )}ZJJ\ [‘,&,_,;U\): It has waw or ya as the first and third radicals, e.g.:
S H
In the /afif mafriig only the second radical remains in the amr because the first radical is omitted in the
mudari ‘, and the third radical is omitted in the amr. The amr from 65.:: éj is SS ‘save!” and
fromgg.} s ¢ ‘understand!’.
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LESSON 30

LESSON 30

In this lesson we learn the following:

1) The iwu?a’ of the verb to the pronouns ol the dual.

o] P a - LI

Third person masculine Lad g)\:—jﬁ\ o J.>j.5\
g . . s @

Third person feminine s d Q\S:;S\-u\ coald KZ;S\,B\
p £

Second person mas. and fem. Locoa. s LA Cond &l
ot %k

Laia s \.M\ cond el

Note that in the second person, the pronouns of the masculine and feminine are identical. The first
person has no dual form. The plural form is used for the dual as well.
In the muddari* martii

Third person masculine  Ola L QLU Cads 2L

° 2o A
Third person feminine Ol Q\:,./S\,H\ VY A..QUQJ\
Second person mas. and fem. have the same form

}O
o Lo < ,.A..,b g_,.:\
}05 _ & ./ O;
In the muddri mansitb and majziim
They have the same form both in the muddri* mansiib as well as the muddari* majziim. In both the
moods the niin is omitted.

Mn(/au mansuh /\Im/a// ma/'um
s o oLJUaS\ .bj Lady o uLJUaJ\
m;u o ol 2 5 i o uuw
¢ Q\F\ L Lals u\ g\/* d ¢ d\y\ L Lads \
¢ OB L et o ol ST $ olesi 4 et o

We have already learnt that the O in O jf}a.ﬁ:? %8 ji‘i.x; and :ﬂ.«i.b: is omitted in the
mudari* mansiih and the mudﬁ/’i‘m((/':ﬁm. Now we must add d\:;b.kg/ and Q\:ja._):? to this group.

These five forms of mudari* are called Lo \\:,, Y (The five verb-forms). They retain their

niin in the marfii mood and omit it in the mansiib and majziin moods.
In the amr:
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The masculine and feminine pronouns have the same forms, e.g.:
Z ° ° 2 Pl
OAT | R OB | a3
The pronouns of the dual are as follows:
a) Pronouns of raf™:

Third person mas. & fem. L

}oi

Second person mas. & fem. o

-

s 0

First person mas. & fem. o

These are the separable pronouns. The inseparable pronouns which appear in the mdadr and the
muddri © are:

o o P P

-alifasin: Olads  (Olady  (ad (LAl
s - Ao /~
-tumaas in : Lo.:.tu

b) Pronouns of jarr:

Third person mas. & fem: Ll.é_ asin Lea _; \
A 2

Second person mas. & fem: R as in j-? \

. - . - ;i
First person mas. & fem: L asin U j.g\
c¢) Pronouns of nash:

Third person mas. & fem: le- as in Ll.é.i;\;
2

2. %
- . Pt TP
Second person mas. & fem: LS as in L&;’i\ B

First person mas. & fem.: G as in ji.:t.i.ﬂ UT;

Lof \.;.3 s “What are your names?’

Note that the plural £ e} has been used here instead of the dual g/)\.«.&j Things which are known to
be only one are used in the plural while speaking of two. Here are some more examples:

2 . °
LS j:;-j Mot “Wash your faces!’

. L;.g.& jij QS:U}J‘ :_;15— “The two boys shaved their heads.’

-~ -~ e P
9‘-3535 twins & .1& j,)a_‘>- w&o airlines office

z*
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similarity

institute

another (dual)

May Allah grant you success

period (in a school college,
etc)

92

"i/w/ # A A

3sle

28

LESSON 30

airlines

prescribed text
books

visiting the
sick

childhood



LESSON 31

In this lesson we learn the adjectives:

In Arabic the adjective is called na 't (gé,.;ﬁ\) and the noun it qualifies is called man ‘it (é) ji;;,)\).

The na 't follows the man ‘iit, and agrees with it in the following four things:
a) being definite or indefinite, e.g.:

. 2 ” _ .
e Ll ST s DS e
b) the case, e.g.:

o - A
Marfii*: J.,a_é.s\ LSQ .\3./\95.5\ éﬂ )..LJ\ (al-mudarris-u (a)l-jadid-u)
Mansiib: :L“:.«br.ss &ﬂjw‘ éJL& (al-mudarris-a (a)l-jadid-a)

¥- 4 0 S : :
Majriir: ./)g.bJ\ u,v).,t.f».l./s é,.l.a (al-mudarris-i (a)l-jadid-i)
c) the number, e.g.:
Singular: j:../f &\ uJ (akhun kabir-un)
Dual: Q\ J:../f Q‘ j—;" 4 3)7\.: (akhaw-ani kabir-ani)
R0 < a8
Plural: j\.; 3}5—\ 4 .Lgb— (ikhwat-un kibar-un)

d) the gender, e.g.:
Masculine: j,g:f &\ Lﬁj

R - 2R
Feminine: &0 5

zee s S0 S, "

Z\JY; 3.&; 3_} to show, to advise (a-u) _Jg_:,wj medium
)
_}a_:,w}j\ . / h | name of an Arabic dictionary

s
(¢l z) fs" city district 255 good

2 -
-0 P P ) s P
e & i\ to end, to come to an end \; 5 1055 10 to begin (a-a)
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